PNEUMATIC

R 2 1% 98

ERHISO9001:2008

TS
o
SEBEERAT

TAIWAN TOSYO CO., LTD



EENTEEE 01

Fitting Safety Precautions

RIREIEIRBIEAS - KRB EZEE 43 02
)

Pressure-Line Filters * Vacuum Ejectors(Mini Type

EZogyt o8 04

Vacuum Ejectors

3t F 505K 06

Speed controllers

& AR B IR 3 132 B8 11

Mini Type Quick Fittings

38 F AU IR R 122 B8 17

Universal Type Quick Fittings

fiE 88 15 T8 50

Rotary Fittings

B L1258 53

Stop Fittings

25 77 P 55

Checkvalve

S8R - B ER 57

Check Valves ~ Slide Valve

B 61

Ball Valves

TER © (R B S 62

Air Control Valves ~ Mini Type Fittings

BIEER « "I 65

Tube cutter and air gun

SUEIUD T




EEAMEAA LS EMAIFHREU NEIREIR

EAEREYUTRER -

JE———
RalRE

e
o

®3mm - +0.1 $1/8 - +0.1
¢4mm +0.1 +£0.15 $5/32 +01 +£0.15
$6mm 0.1 +0.15 $3/16 +01 +0.15
$8mm £0.1 +0.15 b1/4 £0.1 +0.15
$10mm 0.1 +0.15 $5/16 01 +0.15
$12mm £0.1 +0.15 ¢3/8 +0.1 +0.15
$14mm +0.1 +0.15 $1/2 01 +£0.15
$16mm +0.1 +0.15 ¢ 5/8 +0.1 +0.15

EEIRER

B EEREFIUASRKER  EFIIEREREEFRRBEL -

B EBETE  BFEAGEIE  AUATERER -
B STEREGE  BR-TRIBETRALR -

B RRETR BEIENENRE -
B BEIROTIMBRIE - 5N - EREORAKRERIN -
EFRALKRZBNUEE Y  EBZBESEBEAL -

EIRHEM A
B S AARER  FERESNRFEE -

W SEHIM3MES - EFEEER  BEARFIRRSEL/4E -
B SEHIMSMES - EFEREE  BEARFIRREEL/6E -

% i 1% &

FERRES BRfzm  HZE
TrrENEE 0~1.2Mpa
FEREZEREN -100Kpa(10Torr)
TERESE -10E~60EC
=g [EREE - PUE

A olEE

P

N ARBRF

> OrrErF

ERIRE
ERRBIER

ZRIRE
PRI R

mAR
PRI TR

i
R

#1E3EER

B

FHA
BENE

K

REEE
PR B REE

i

h

s
e

El-|

N

01



PLF

4
hY P2

o

RESSURE - LINE

REERBIER

FILTERS

C% %% E””E&ﬁ!%’%ﬁﬁﬁtfﬁ%%

RiEm=ETEE N1 HISENSOR

|
|
B AERAKE  ERKEREEERAZ
|
|

BRI A ARG EmiRER S

5] B 7T 5%

PLF35

A:20pum (

BIEIEE)

B: 5 um (BIEBE)

PLF55A

PLF558B

BIRME % 99.9
BIEZERE Umin(ANR) 40 | 20
BefEAE Mpa 0.97
EREANEHE kpa 100 ~ 700
{RIE Y B Mpa 1.47
(RIEMY =B Mpa 0.2
FRREHE °C 0~ 60

IERRIBEY - EAFET20Kpa

ERESR - A AIN fIRERET AN EE R -

BN ORI 03 0.5 ~ 0.7 Nm - B RSB R

RN I R

o] & & EL fth 3% 88 =

REINZHREE

E-PLF55A XA IES (20 pm)
E-PLF55B XABEE( 5 pm)

9.2

17.5
14 (3.5)
3,
M5X0.8
] |/
IN {1 Il our
| | T
A A
@
— \ AMTN2
B EEA-A




0
ARER

Mini Type Vacuum Ejectors

Sz Sz

R’ R
il

o
==
B

R ZE
38 22
i &£

B4R
R
IR
KvU-07
\ pragn BRAREY
fEAREE =R TRIREETE
1% ﬁﬁ EE j] %ﬁ @ Kgf/cm’(Kpa) 0 ~ 9(900)
HER T Kgf/em(Kpa) 5(500) AR
BEETE -91.8kpa(-690mmHg) PRiREEDR
=11 F=KEY () 5 7
FERREHHE c 5~60 i
o R
,,,_, e =480
nE e NYLON - PBT - PP
EEOK Re(PT) M5x0.8p ~ 1/8" Al
FEVER P ZRRB
B

R~ KVU-05 an

< D””n_ ”:If R

=T W= HIRE B

?13
24

51
KvVU-07
.,,‘ < DI]I:IHD. W
3‘{ ===, _}’TE %
= =
59
I




Vacuum Ejectors

B BAEREBERELEZEBRERKERE - BAEHN
% ERE LEREEBHZEZEE-BR - mz=
REHIERAREMZE—ERIINEE - MEER
SITER -

m N B BR - ZEH -

HEIE
1121173 S
B B
P H
i) &

B CV-10HS | CV-15HS |CV-20HS
Model

BEEEE 1.5mm

fcE DR R~T G1/8 G1/4 G3/8
AR =R

ERERNEE 0.1~0.6 MPa

BERE 5~60F (R#E#)

AEEEE -87~-92(-650~-690mmHg)
HIEERE 0.5 Mpa

FEopite Bty

- 759 135¢g 330g




= A

CV-10HS

<+
0 45
14 2o u
% ds%g

7

1

i [ (®
ﬁ_?l, ‘\ i | ﬁF [
P — ]| R v |
W -
P 16
v
BEZ [
CV-15HS
15 63
Hi7 e = 1:9
—Lr . ’
. S 3
= a T - 5 i
= 61/4 | , IM BE \J 8
P | = .
[ o -
" 20
v
B ZE [
CV-20HS
20 85
H24 28 > -
a7 %}ﬁf__ _____
= D £ g
| - Tl L 1 <
—GL74 ‘IE%(_i— 1= 61/2|| HE N

40

29.6

mn
B

]
R T

mAR
tRERFEER

i
ST

#1E3EER

B[R

FENH
BENH

K

RENH
ERARE B RER



HEARE

(S

{

] B BLER ()

AEE i

RBGLREHEAEE -
MERMURE - 218

RERERE - REMIR - OIEEREM -

ﬂ%lbﬁ[’fﬁ{%?% °

) B i (% $2.6)
Needle(Brass)

5 2 (22 4)

Lock Nut(Brass)

P B (42 82 41)

Metal Body(Brass)
1R (HE 52 4R)

Valve Stem(Brass)

OB (T h51418)
O-Ring(NBR)

ERBHE(TEEE)
H-Packing(NBR)

R (3 85 )
N-Holder(Brass)

TSC 8

BRI =

® i
R~ (mm)

THE(TEEE)

Packing(NBR)
[ERIR (B P EY)

- Back Ring(POM)

FE(GEE)

Collar(Brass)

[E3E/Nylon Tube
PU%E /Polyurethane Tube

ERH(RPE)

_Sleeve(POM)
& R (R i580)
Lock Claws(SUS)
BREEE(ERE)
Plastic body(Nylon)
77 A

ABERER R

e iR EEAOUTZAR B -
B: ¥ s B A I

R EEEBFA -

IRAURAE

PNEUEA

03 04
98 & [M3*0.5 M5*0.8 M6*1.0 R1/8 R1/4 R3/8 RI1/2

1 BEREn R
EHITE S InEARNZESR -
AR -

=

R IREAERBR T I

=

Bl TSC8-03

2 R R
EHEIEEBEREANTR - RBF IREATR BERR

AR -

% TSC8-03B

EmR!



T S C /LB R

Speed Controllers

r
ol

| A
| | '_1 =
m /
ml ﬁ::__ﬁ¢.._l
11 BN
e N
L] g .
1< ]
LMEHE

ol
&)

]
§
1

TSC4-0101
TSC4-02[0
TSC6-M30
TSC6-M50]
TSC6-M60]
TSC6-0101
TSC6-02[0
TSC6-03 01
TsC6-0401
TSC8-0101
TSC8-0201
Tscg-030
TSC8-0401
TSC10-010]
TSC10-020]
TSC10-030]
TSC10-04]
TSC12-010J
TSC12-02[]
TSC12-030
TSC12-0400
TSC14-04J
TSC16-04[]

R1/8
R1/4
M3*0.5
M5%0.8
M6*1.0
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/2
R1/2

7.5
10.5
3
35
4
7.5
10.5
11.5
15
7.5
10.5
115
15
7.5
10.5
11.5
15
7.5
10.5
115
15
15
15

225
24.5
215
215
215
225
24.5
26.5
32
25
28
29
32
30.5
325
33
36
33
33
35
36
39
39

10.5
12.5
8.5
8.5
8.5
10.5
125
135
18
115
13
14.5
18
135
15
16.5
18
15
16.5
18
19.5
22
22

295
35
41

465
54
35
41

465
54
35
41

465
54
38
4

465
54
54
54

465
52
60
40

465
52
60
40

465
52
60
43

465
52
60
61
61

40.5
455
52
36
40.5
455
52
39
40.5
455
52
53
53

13
13
13
13
13
13
13
13
145
14.5
14.5
145
14.5
18.5
18.5
18.5
18.5
21
21
21
21
26
26

12
14
19
24
12
14
19
24
12
14
19
24
14
14
19
24
24
24

L2

3T
ARER

ZRIRE
EfRBER

ZRAR T

B4

=5

o

5

H3 B¢

AR
PRI

mAR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RENH
ERARE B RER

L1 B
MIN | MAX e

TSS-M50

TSS6-011
TSS6-02[1
TSS8-02[1

L2




T S C = G /LERBE(ES)

Speed Controllers

TSC-N jue

oo B
[ A
1 .
| | " i
o S
'Iml s &
1 1.1 :“I#

TSC4-Go1
TSC4-G02[0
TSC6-G01[]
TSC6-G02[1
TSC6-G03[
TSC6-G04[
TSC8-G01[]
TSC8-G02[0
TSC8-G03[
TSC8-Go4[
TSC10-Go1d
TSC10-Go2[1
TSC10-Go3[
TSC10-Go4d
TSC12-G0200
TSC12-Go3d
TSC12-Go4ad
TSC14-Go4[d
TSC16-Goald

W 00 0 0 O o o o b b

e s s
o A N N N O O O O

G1/8
Gl/4
G1/8
G1/4
G3/8
G1/2
G1/8
G1/4
G3/8
G1/2
G1/8
Gl/4
G3/8
G1/2
G1/4
G3/8
G1/2
G1/2
G1/2

5.5
8.5
5.5
8.5
9.5
12
5.5
8.5
9.5
12
5.5
8.5
9.5
12
8.5
9.5
12
12
12

225
24.5
225
24.5
26.5
32
25
28
29
32
30.5
325
88
36
33
35
36
39
39

14.5
10
10.5
115
14.5
12
125
135
14.5
14
15
16
18
18

465
54
35
41

465
54
35
41

465
54
41

465
54
55
55

46.5
52
60
40

46.5
52
60

46.5
52
60
61
61

295
325
295
325
37
42
295
325
37
42
295
325
37
42
325
37
42
43
43

425
48
345
38
425
48
345
38
425
48
38
425
48
49
49

13
13
13
13
13
14.5
14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21
21
26
26

12
14
12
14
19
24
12
14
19
24
12
14
19
24
14
19
24
24
24

® i (NPT)

Speed Controllers

TSC5/32-u10d
TSC5/32-N01[]
TSC5/32-N02[]
TsC1/4-U10 [
TSC1/4-N01 [
TSC1/4-N02 [
TSC1/4-N03 [
TSC5/16-N01[]
TSC5/16-N02[]
TSC5/16-N03[1
TSC5/16-N04[]
TSC3/8-N01 [
TSC3/8-N02 [
TSC3/8-N03 [
TSC3/8-N04 O
TSC1/2-N02
TSC1/2-N03 [0
TSC1/2-No4

5/32
5/32
5/32
1/4
1/4
1/4
1/4
5/16
5/16
5/16
5/16
3/8
3/8
3/8
3/8
1/2
1/2
1/2

10-32UNF
NPT1/8
NPT1/4

10-32UNF
NPT1/8
NPT1/4
NPT3/8
NPT1/8
NPT1/4
NPT3/8
NPT1/2
NPT1/8
NPT1/4
NPT3/8
NPT1/2
NPT1/4
NPT3/8
NPT1/2

35
7.5
10.5
35
7.5
10.5
11.5
7.5
10.5
115
15
7.5
10.5
11.5
15
10.5
115
15

19.5
225
24.5
215
225
245
26.5
25
28
29
32
30.5
325
&3
36
33
35
36

7.5
10.5
12.5

8.5
10.5
125

14
115

13
14.5

18
135

15
16.5

18
16.5

18
195

MIN
29
35
41
29
35
41

465
35
41

465
54
35
41

465
54
41

465
54

32

40

465
32
40

465
52
40

465
52
60
40

465
52
60

465
52
60

255
31
35

255
31
35
40
31
35
40
46
31
35
40
46
35
40
46

28.5
36
40.5
28.5
36
40.5
455
36
40.5
455
52
36
40.5
455
52
40.5
455
52

11
13
13
13
13
13
13
14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21
21




T S C D C /L2382 7

Speed Controllers IR
AREIE

J L S § AR

MIN | MAX | MIN | MAX == ELBER

TSCDC4-MS[] 4 M5%0.8 3.5 195 75 235 245 20 21 11 8
TSCDC4-01[] 4 R1/8 7.5 225 10 315 325 275 285 13 12 HIREL
TSCDC4-0200 4 R1/4 10.5 24.5 125 38 39 32 33 13 14 RERTE
TSCDC6-MSCI 6 M5*0.8 35 215 8.5 235 245 20 21 13 8
TSCDC6-010 6 R1/8 75 225 10 315 32,5 27.5 285 13 12 EZE g
TSCDC6-02[0 6 R1/4 105 24.5 125 38 39 32 33 13 14
TSCDC6-030 6 R3/8 115 26.5 14 43 44 36.5 375 13 19
TSCDC6-040 6 R1/2 15 32 18 50 51 42 43 145 24
Eq TSCDC8-010 8 R1/8 7.5 25 115 315 325 275 28.5 145 12
TSCDC8-02[0 8 R1/4 105 28 13 38 39 32 33 145 14
TSCDC8-03[0 8 R3/8 115 29 14.5 43 44 36.5 375 145 19
TSCDC8-04[0 8 R1/2 15 32 18 50 51 42 43 145 24
TSCDC10-010 10 R1/8 75 30.5 135 315 325 275 285 185 12
TSCDC10-02[0 10 R1/4 10.5 325 15 38 39 32 33 185 14
TSCDC10-03[0 10 R3/8 115 33 16.5 43 44 36.5 37.5 185 19
TSCDC10-04[0 10 R1/2 15 36 18 50 51 42 43 185 24 o
TSCDC12-0200 12 R1/4 105 33 16.5 38 39 32 33 21 14 iR EETE
TSCDC12-0300 12 R3/8 115 35 18 43 44 36.5 375 21 19
TSCDC12-0400 12 R1/2 15 36 19.5 50 51 42 43 21 24 A
PRiR$EDR
=]
#E0R
T S C D C = G JLERERB(ES)
Speed Controllers
150
L
MAX B0
TSCDC4-Go1O 4 G1/8 55 225 10 315 325 26 27 13 12
TSCDC4-GO200 4 Gl/4 8.5 245 125 38 39 295 305 13 14
TSCDC6-G01O 6 G1/8 55 22.5 10 315 325 26 27 13 12 Eg;@
TSCDC6-GO200 6 G1/4 85 24.5 125 38 39 295 305 13 14
TSCDC6-GO3O 6 G3/8 9.5 26.5 14 43 44 335 345 13 19
TSCDC6-Go4L0 6 G1/2 12 32 18 50 51 38 39 145 24 KR
TSCDC8-GO1d 8 G1/8 55 25 115 315 325 26 27 145 12
TSCDC8-GO2[0 8 G1/4 8.5 28 13 38 39 295 305 145 14 —
A — RENRE
TSCDC8-GO3[] 8 G3/8 9.5 29 14.5 43 44 335 345 145 19 MRS BIEE
4 TSCDC8-GO4[] 8 G1/2 12 32 18 50 51 38 39 145 24
m I TSCDC10-GO1[d 10 G1/8 55 30.5 135 315 325 26 27 185 12 e
,ﬁ, TSCDC10-Go200 10 G1/4 85 325 15 38 39 295 305 185 14 ety
1 T 4:# TSCDC10-Go3O 10 G3/8 95 33 16.5 43 44 335 345 185 19
TSCDC10-Go4d 10 G1/2 12 36 18 50 51 38 39 185 24
TSCDC12-Go2[0 12 Gl/4 8.5 33 16.5 38 39 295 305 21 14
TSCDC12-G03[0 12 G3/8 9.5 35 18 43 44 335 345 21 19
TSCDC12-G0o4[0 12 G1/2 12 36 195 50 51 38 39 21 24
I



TSU.:

Speed Controllers

BHERARB

T D S C /AREE

Speed Controllers

Tsu4 O
TSue O
Tsug O
Tsuio O
Tsu120d
TSus/320
TSU3/16 0
TSU1/4 0O
TSU5/16
Tsu3/e O
Tsu1/20

10
12
5/32
3/16
1/4
5/16
3/8
1/2

40

47

52
63.5

635
74

L
B 2 P
MIN | MAX

115 27 295 1
15 39 445 13
18 425 475 14.5
21 465 52.5 185
28 54 59 21
115 27 295 11
115 27 295 11
15 39 445 13
18 425 475 14.5
21 465 52.5 185
28 54 59 21

14
20
22
26
32
14
14
20
22
26
32

6.5
8.5
9.5

11
14
65
65
85
95
11
14

B 3R R 7

BEER

Speed Controllers

TDSC8-011
TDSC8-020

TDSC8-030

TDSC8-01] 47.5 52 435
TDSC8-02[] 50.5 55 44.5
TDSC8-03[] 52 56.5 455

48
49
50

14.5
14.5
14.5

19
19
19

THSC8-01[1 8 R1/8 8
THSC8-02[1 8 R1/4 11

26.5
26.5

18
19

“ax i

THSC8-0101 515 425

THSC8-0201 54.5 435




Mini Type Quick Fittings

]

B REFAB/NERENREESERE - = f/:— [
B REREAEERIEEN40%  RINER/ AL £ 1 J SN |
= B \ T A ST . : = Pic
W MR a L AT R omarse S 791
svm ¢4 12MM
= mgMs 1B LTMS
INEY RER
HIEXEE
= BB (PR HE®HESD)
Back Ring(POM) Collar(Brass)
BHE(TB%B) N
Packing(NBR) JEZE INylon Tube
— PU% /Polyurethane Tube
B TR AS (PBT) P

Plastic body(PBT) /.~

om@(THER) | | || B N
O-Ring(NBR) |~ - | A B
j‘g E(RPE)
S8 (395) T SeVSPON)
Metal Body(Brass) — | ~ % B (FE548)

O-Ring(NBR) | ¢ | s

X NS M)
BRER S

M3*0.5 M5*0.8

#0
ARER

ZRIRE
ERRBIER

1R
Bbeds

mAR
PRI TR

i
R

#1E3EER
ESpl

FHA
BEN

K

REEE
PR B REE

1



TPC MINI TYPE /s 255

Mini Type Quick Fittings

TPCF MINI TYPE /155 5

Mini Type Quick Fittings

TPOC MINI TYPE )~z

Mini Type Quick Fittings

o ! N
| o
et
1 oot i I
T A < o4
=== I

TPC3-M3M

TPC3-M5M
TPC3-M6M
TPC4-M3M
TPC4-M5M
TPC4-M6M
TPC4-01M
TPC6-M5M
TPC6-M6M
TPC6-01M

o o o A b B DB W W W

M3*0.5
M5*0.8
M6*1.0
M3*0.5
M5*0.8
M6*1.0
R1/8
M5*0.8
M6*1.0
R1/8

17.5

17.5
18
18

125
125
125
13
135
135
14
14
14
14

9.5
9.5
9.5
11
11
11
11
11.5
115
115

TPCF3-M3M

TPCF3-M5M
TPCF3-M6M
TPCF4-M3M
TPCF4-M5M
TPCF4-M6M
TPCF4-01M
TPCF6-M5M
TPCF6-M6M
TPCF6-01M

M3*0.5
M5%0.8
M6*1.0
M3*0.5
M5*0.8
M6*1.0
R1/8
M5*%0.8
M6*1.0
R1/8

(S IO, B N O NV N

75

7.5

16
175
175
17.5

19

19

22

19

19

22

9.5
9.5
9.5
11
11
11
11
115
115
115

TPOC3-M3M

TPOC3-M5M
TPOC3-M6M
TPOC4-M3M
TPOC4-M5M
TPOC4-M6M
TPOC4-01M
TPOC6-M5M
TPOC6-M6M
TPOC6-01M

o o o A B B DB W W w

M3*0.5
M5*0.8
M6*1.0
M3*0.5
M5*0.8
M6*1.0
R1/8
M5*0.8
M6*1.0
R1/8

7.5

15.5
16
16.5
16
17
17.5
18
17.5
18
18

125
125
125
13
135
135
14
14
14
14

9.5
9.5
9.5
11
11
11
11
115
115
115




TPL MINI TYPE ) 255

Mini Type Quick Fittings

TPLL MINITYPE 125

Mini Type Quick Fittings

TPB MINI TYPE /124

Mini Type Quick Fittings

TPL3-M3M

TPL3-M5M
TPL3-M6M
TPL4-M3M
TPL4-M5M
TPL4-M6M
TPL4-01M
TPL6-M5M
TPL6-M6M
TPL6-01IM

M3*0.5
M5%0.8
M6*1.0
M3*0.5
M5%0.8
M6*1.0
R1/8
M5%0.8
M6*1.0
R1/8

12

12

12
14.5
14.5
145
14.5
16.5
16.5
16.5

15.5
16
16.5
15.5
16
16.5
19.5
16
16.5
19.5

28

28

28
315
315
315
34.5
34.5
345
37.5

9.5
9.5
9.5
11
11
11
11
115
115
115

TPLL3-M3M

TPLL3-M5M
TPLL3-M6M
TPLL4-M3M
TPLL4-M5M
TPLL4-M6M
TPLL4-01M
TPLL6-M5M
TPLL6-M6M
TPLL6-01M

o o o » b D D W W oW

M3*0.5
M5%0.8
M6*1.0
M3*0.5
M5%0.8
M6*1.0
R1/8
M5%0.8
M6*1.0
R1/8

7.5

12

12

12
14.5
14.5
14.5
14.5
16.5
16.5
16.5

235
24
24.5
26
26.5
27
30
28
285
315

24
24
24
27.5
27.5
27.5
30.5
30
30
33

9.5
9.5
9.5
11
11
11
11
115
115
115

TPB3-M3M

TPB3-M5M
TPB3-M6M
TPB4-M3M
TPB4-M5M
TPB4-M6M
TPB4-01M
TPB6-M5M
TPB6-M6M
TPB6-01M

M3*0.5
M5*0.8
M6*1.0
M3*0.5
M5*0.8
M6*1.0
R1/8
M5*0.8
M6*1.0
R1/8

7.5

12

12

12
145
145
145
145
16.5
16.5
16.5

15.5
16
16.5
155
16
16.5
195
16
16.5
195

16
16
16
17
17
17
20
18
18
21

9.5
9.5
9.5
11
11
11
11
115
115
115

3T
ARER

ZRIRE
EfRBER

AR

R
B

mAR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RENH
ERARE B RER




TPD MINI TYPE, =

AXEE

Mini Type Quick Fittings

2-E

2-C

2-oD

TPU MINI TYPE /x5 e

wEES
2-0F

Mini Type Quick Fittings

TPV MINITYPE /inemsx

Mini Type Quick Fittings

14

TPD3-M3M

TPD3-M5M
TPD3-M6M
TPD4-M3M
TPD4-M5M
TPD4-M6M
TPD4-01M

TPD6-M5M
TPD6-M6M
TPD6-01M

M3*0.5
M5%0.8
M6*1.0
M3*0.5
M5%0.8
M6*1.0
R1/8
M5%0.8
M6*1.0
R1/8

7.5

12

12

12
14.5
14.5
14.5
14.5
16.5
16.5
16.5

15.5
16
16.5
15.5
16
16.5
19.5
16
16.5
19.5

28

28

28
315
315
315
345
345
345
37.5

9.5
9.5
9.5
11
11
11
11
115
115
11.5

TPG4-3M
TPG6-3M
TPG6-4M




Mini Type Quick Fittings

Mini Type Quick Fittings

Mini Type Quick Fittings

TPM MINITYPE oo /48

M8*0.75

M10*1.0

M12*1.0

20.5
23
24

3T
ARER

ZRIRE
EfRBER

AR
o

1 ZE SR

\

1RAER
Fiebed

mAR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RE
ERARE B RER




Mini Type Quick Fittings

TPW4-3M 9.5 12

TPW6-3M 95 135
TPW6-4M 11 14

TPX MINI TYPE vz

Mini Type Quick Fittings

TPX3-M3M M3*0.5 3 12 315 285 9.5

TPX3-M5M M5*0.8 3.5 12

M6*1.0 4 12

H
8

32 285 9.5 8
9.5 8
8

8

8

7 7

7 7
TPX3-M6M 7 325 285 7
M3*0.5 3 14 9 34 31 9 11
9 9
9 9
9 9

TPX4-M3M
345 31 11
11
11 10
M5%0.8 4 15 11 37 335 11 115 8
M6*1.0 3.5 15 11 375 335 11 115 8

R1/8 7.5 15 11 40 36 11 11.5 10

TPX4-M6M M6*1.0 4 14 35 31

TPX4-01M R1/8 7.5 14 375 335
TPX6-M5M

TPX6-M6M

D
3
3
3
4

TPX4-M5M 4 M5%0.8 3.5 14
4
4
6
6
6

TPX6-01M

TSC MINITYPE ,

Mini Type Quick Fittings

e

MAX | MIN

TSC4-M3M M3*0.5 3 28 255

TSC4-M6M

3
TSC4-M5M 4 M5*0.8 3.5 28 255
6

M6*1.0 4 28.5 26 9 95 11 18 7 8




Universal Type Quick Fittings

=+

Ol

B REZFEARRHERLE -

W ZE% SENAOYNUEEEHENE -
W ESRRVIRAS ol DA BB AT 2 -

B FFEERAE ARENORE -

=+ == =
HIELE BB HEEE D)
Back Ring(POM) Collar{ZINC)
BB (T E%R)
Packing(NBR) JEBE/Nylon Tube

PUZ /Polyurethane Tube

AL 2R RS (PBT)
Plastic body(PBT)

OZE(T B2 )
O-Ring(NBR)
(B PEE)
i 5% (4 52 1) Sleave(POM)
Metal Body(Brass) “ . . "
- ; R (R 50)

Lock Claws({SUS)

5] S EL5E ()

) BEERBA

11O

A5 G0l G02 GO03 GO04 GO6

%%E T_" B T«%\ ’2.& %E 1%1 R1/8 R1/4 R3/8 R1/2 R3/4
EFR~ PERST PNEUNRA
X i 4 6 8 10 12 16 K5 | M3 M5 M6 01 02 03 04 06
R~ (mm) $4 6 $8 $10 $12 916 82 & |M3*0.5 M5*0.8 M6*1.0 R1/8 RI1/4 R3/8 R1/2 R3/4

EFR~ EEIRT H— M TR AL /UNF =8060° HE B
£ 5 5/32 3/16 1/4 5/16 3/8 1/2 5% u1o0 NO1 NO2 NO3 NO4 NO6
Rsf(mm) | $3.96 ¢4.76 $6.35 ¢$7.94 ¢9.53 $12.7 97 W 10-32UNF NPT1/8 NPT1/4 NPT3/8 NPT1/2 NPT3/4

#0
ARER

ZRIRE
ERRBIER

1RAER
iebed

AR
tRER TR

]
F
ﬂ
h
R
£
]

i
R

#1E3EER
ESpl

FHA
BEN

K

REEE
PR B REE

11



T P C /BB

Universal Type Quick Fittings

T P C = G /BEREB(ES)

Universal Type Quick Fittings

o B
3

| .

i< & T
]

TPC4-02

TPC4-03
TPC6-02
TPC6-03
TPC6-04
TPC8-01
TPC8-02
TPC8-03
TPC8-04
TPC10-01
TPC10-02
TPC10-03
TPC10-04
TPC10-06
TPC12-01
TPC12-02
TPC12-03
TPC12-04
TPC12-06
TPC14-02
TPC14-03
TPC14-04
TPC14-06
TPC16-02
TPC16-03
TPC16-04
TPC16-06

0 0 0 0 O o O » b

[ S~ S S S T e T = T = T S e S T S Y
o o o o A B B B N N N N N O O O O O

R1/4
R3/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R3/4
R1/8
R1/4
R3/8
R1/2
R3/4
R1/4
R3/8
R1/2
R3/4
R1/4
R3/8
R1/2
R3/4

10.5
135
7.5
10
10.5
135
15
7.5
10
10.5
135
15
10
10.5
135
15
10
10.5
135
15

19.5
20.5
23
21
25
26.5
25
215
25.5
29
31
27
26
28
315
34
29.5
325
29
345
&5
&3
29.5
36
37
37
29.5

17.5
25
25

20.5
18

18.5

27.5
28

24.5
19.5
285
285
24.5

30
30.5
285

20

0 00 00 o U1 o o o U A DM D W W

ul

10
10

10
10
10

10
12
12

TPC4-GO1

TPC4-G02
TPC6-GO1
TPC6-G02
TPC6-GO03
TPC6-G04
TPC8-GO1
TPC8-G02
TPC8-GO3
TPC8-G04
TPC10-GO1
TPC10-G02
TPC10-G03
TPC10-G04
TPC12-G02
TPC12-G03
TPC12-G04
TPC14-G02
TPC14-GO03
TPC14-G04
TPC16-G02
TPC16-G03
TPC16-G04

0w 0 0 0 oo o o o » b

e e O N O s s s
o o o A b Db N N N O O O O

G1/8
Gl/4
G1/8
Gl/4
G3/8
G1/2
G1/8
Gl/4
G3/8
G1/2
G1/8
Gl/4
G3/8
G1/2
Gl/4
G3/8
G1/2
Gl/4
G3/8
G1/2
Gl/4
G3/8
G1/2

5.5
6.5
SIS
6.5
7.5
10
5.5
6.5
7.5
10
5.5
6.5
7.5
10
65
7.5
10
6.5
7.5
10
6.5
7.5
10

19.5
19.5
20.5
215
21
235
26
23
24
25
285
295
26
26
315
325
30.5
32
&35
31
33
34.5
37

14
13
15
15

135

135

205

165

165
15
23
23

185
16
25

255

205

255
26
21

265

275
27

0 O 0 o U o o o uu A b DB DB W W

= =
o o 9 o

10
12




T P C - N /BB (NPT)

Universal Type Quick Fittings

fe3e]
TPC1/8-U10 1/8 10-32UNF 35 20 165 7/16 -
/ ! / HEEE
TPC1/8-NO1 1/8 NPT1/8 75 195 155 7/16 24
v TPC1/8-NO2 1/8 NPT1/4 10 195 135 9/16 24
\ ZRIREY
\ r ] TPC5/32-U10 5/32 10-32UNF 35 20 165 7/16 2 EeEES
TPC5/32-N01 5/32 NPT1/8 7.5 195 155 7/16 32
-NO2 5/32 NPT1/4 10 19. . 32
TPC5/32-N / / 9.5 135 9/16 -
TPC3/16-U10 3/16 10-32UNF 35 20 165 7/16 2 HEsER
TPC3/16-NO1 3/16 NPT1/8 75 195 155 7/16 4
TPC3/16-N02 3/16 NPT1/4 10 195 135 9/16 4
o RS
~20_ TPC1/4-U10 1/4 10-32UNF 35 21 175 1/2 2
Fia TPC1/4-NO1 1/4 NPT1/8 75 21 17 12 4
= | — TPC1/4-N02 1/4 NPT1/4 10 23 17 9/16 4 R
~ oo
o TPC1/4-N03 1/4 NPT3/8 105 21 15 11/16 4 R
' 1 | TPC5/16-NO1 5/16 NPT1/8 75 265 225 9/16 56 —_—
! N "' TPC5/16-N02 5/16 NPT1/4 10 25 195 9/16 6.4 RARE
PRIE TR
TPC5/16-N03 5/16 NPT3/8 105 215 155 11/16 64
TPC5/16-N04 5/16 NPT1/2 135 255 175 7/8 64
TPC3/8-NO1 3/8 NPT1/8 7.5 29 225 11/16 56
TPC3/8-N02 3/8 NPT1/4 10 31 25 11/16 64
TPC3/8-NO3 3/8 NPT3/8 105 27 21 11/16 8
TPC3/8-NO4 3/8 NPT1/2 135 26 18 7/8 8
TPC1/2-NO2 172 NPT1/4 10 34 28 7/8 64
TPC1/2-NO3 1/2 NPT3/8 105 305 24 7/8 96
TPC1/2-NO4 1/2 NPT1/2 135 325 245 7/8 96

s
3
T P O C /PN B E R B
Universal Type Quick Fittings Al
-
TPOC4-02 4 R1/4 10 19.5 135 14 3
TPOC6-02 6 R1/4 10 23 17 14 4 -
TPOC6-03 6 R3/8 105 21 145 17 4 SEE RS
TPOC8-01 8 R1/8 75 265 225 14 5
TPOC8-02 8 R1/4 10 25 19 14 6
TPOC8-03 8 R3/8 105 215 15 17 6 Rl
TPOCS-04 8 R1/2 135 255 175 21 6
TPOC10-01 10 R1/8 7.5 29 25 17 5 =0
TPOC10-02 10 R1/4 10 31 25 17 6 AR BER
TPOC10-03 10 R3/8 105 27 205 17 8
oP _ TPOC10-04 10 R1/2 13.5 26 18 21 8 Basse
@0_ TPOC12-02 12 R1/4 10 34 28 21 6 wiR
L ' TPOC12-03 12 R3/8 105 295 23 21 3
a - TPOC12-04 12 R1/2 135 325 245 27 10
y TPOC16-03 16 R3/8 105 37 305 24 10
1 » :* TPOC16-04 16 R1/2 135 37 285 24 12
y 8 1
I



T P C F /AT BB ER

Universal Type Quick Fittings

ﬂ TPCF4-M5 4 M5 5 215 10 10

| TPCF4-M6 4 M6 5 215 10 10

> 4 TPCF4-01 4 R1/8 85 245 10 14
TPCF4-02 4 RL/4 1 27 10 17

TPCF6-MS5 6 M5 5 2 12 12

TPCF6-M6 6 M6 5 2 12 12

- TPCF6-01 6 RL/8 85 255 12 14

oD TPCF6-02 6 R1/4 11 28 12 17

| ! g TPCF6-03 6 R3/8 115 285 12 20
) TPCF8-01 8 RL/8 85 275 14 14

o A TPCF8-02 8 RL/4 1 30 14 17
: i TPCF8-03 8 R3/8 115 305 14 20

' R/ 5l TPCF8-04 8 R1/2 14 33 14 24
TPCF10-01 10 R1/8 85 30 17 17

TPCF10-02 10 RL/4 1 325 17 17

TPCF10-03 10 R3/8 115 33 17 20

TPCF10-04 10 RL/2 14 355 17 2

TPCF12-02 12 R1/4 1 35 20 20

TPCF12-03 12 R3/8 115 355 20 20

TPCF12-04 12 RL/2 14 38 20 2

TPCF14-03 14 R3/8 115 36 2 2

TPCF14-04 14 RL/2 14 385 2 2

TPCF16-03 16 R3/8 115 37 2 2

TPCF16-04 16 R1/2 14 395 2 2

T P C F - G/W%Ei@%ﬁﬁ(ﬁ?)

Universal Type Quick Fittings

TPCF4-GO1 4 G1/8 85 245 10 14

TPCF4-GO2 4 G1/4 11 27 10 17

TPCF6-GO1 6 G1/8 85 255 12 14

TPCF6-GO2 6 G1/4 11 28 12 17

TPCF6-GO3 6 G3/8 115 285 12 20

TPCF8-GO1 8 G1/8 85 275 14 14

TPCF8-GO2 8 G1/4 11 30 14 17

TPCF8-GO3 8 G3/8 115 305 14 20

22 L - TPCF8-G04 8 G1/2 14 33 14 24
A - '-“La - TPCF10-GO1 10 G1/8 85 30 17 17

. TPCF10-GO2 10 G1/4 11 325 17 17

o ._ E‘ gl TPCF10-GO3 10 G3/8 115 33 17 20
& —_—— 9'91 TPCF10-G04 10 G1/2 14 355 17 24
TPCF12-G02 12 Gl/4 11 35 20 20

TPCF12-GO3 12 G3/8 115 355 20 20

TPCF12-G04 12 G1/2 14 38 20 24

TPCF14-GO3 14 G3/8 115 36 22 22

TPCF14-G04 14 G1/2 14 385 22 24

— TPCF16-GO3 16 G3/8 115 37 24 24
TPCF16-G04 16 G1/2 14 395 24 24




T P M F /BRARA T BB’

Universal Type Quick Fittings IR
AREIE

ZRIRE

BIRIBER
TPMF4-01 4 R1/8 85 245 5 35 M12*1.0 14 14
TPMF4-02 4 R1/4 11 27 8 35 M12*1.0 17 14 —
TPMF6-01 6 R1/8 85 255 55 4 M14*1.0 17 17 S e
TPMF6-02 6 R1/4 11 285 55 4 M14*1.0 17 17
TPMF6-03 6 R3/8 115 29 55 4 M14*1.0 20 17
BERAER
TPMF8-01 8 R1/8 85 275 55 45 M16*1.0 19 19
TPMF8-02 8 R1/4 11 30 55 45 M16*1.0 19 19
TPMF8-03 8 R3/8 115 305 55 45 M16*1.0 20 19 fmse R
- b TPMF8-04 8 R1/2 14 33 55 45 M16*1.0 24 19 W
-— i 2 TPMF10-02 10 R1/4 11 325 7 5 M18*1.0 21 21
' b= fj TPMF10-03 10 R3/8 115 33 7 5 M18*1.0 21 21 BRARE
3 ] _ . TR
o TPMF10-04 10 R1/2 14 355 7 5 M18+1.0 24 21
At - : TPMF12-02 12 R1/4 11 35 9 5 M22*1.0 27 27
» E TPMF12-03 12 R3/8 115 355 9 5 M22*1.0 27 27
A . TPMF12-04 12 R1/2 14 38 9 5 M22*1.0 27 27
s
08
Al
T P M F = G/B%TEW’%H%E%(EEF
Universal Type Quick Fittings B
FHE
B BN
TPMF4-GO1 4 G1/8 85 245 5 35 M12*1.0 14 14
TPMF4-GO2 4 Gl/4 11 27 5 35 M12*1.0 17 14 ‘
TPMF6-GO1 6 G1/8 85 255 55 4 M14*1.0 17 17 PR
TPMF6-GO2 6 Gl1/4 11 285 55 4 M14*1.0 17 17
TPMF6-GO3 6 G3/8 115 29 55 4 M14*1.0 20 17 S5
TPMF8-GO1 8 G1/8 85 275 55 45 M16+1.0 19 19 IR R
TPMF8-G02 8 Gl/4 11 30 55 45 M16+1.0 19 19
A2 s TPMF8-GO3 8 G3/8 115 305 55 45 M16*1.0 20 19 nER
- -' "?a TPMF8-G04 8 G1/2 14 33 55 45 M16-1.0 2 19 S
:1 — !1” TPMF10-G02 10 G1/4 11 325 7 5 M18*1.0 21 21
3 W i TPMF10-G03 10 G3/8 115 33 7 5 M18*1.0 21 21
A - : TPMF10-G04 10 G1/2 14 355 7 5 M18*1.0 24 21
- aAl 5 TPMF12-G02 12 Gl/4 11 35 9 5 M22*1.0 27 27
' ' TPMF12-G03 12 G3/8 115 355 9 5 M22*1.0 27 27
TPMF12-G04 12 G1/2 14 38 9 5 M22*1.0 27 27
.



T PM s

Universal Type Quick Fittings

T P C = P /R ¥ B R B R

Universal Type Quick Fittings

@ D1
oD2

Universal Type Quick Fittings

-

=

M16*1.0
M18*1.0
M22*1.0
M24*1.0
M26*1.0

TPC4-P

TPC6-P

TPC8-P
TPC10-P
TPC12-P
TPC16-P

10
12
16

13
13
13
13
13
13

32
335
345
375
425
46

20
20
20
20
20
20

14
14
14
14
14
14

TPU8
TPU10
TPU12
TPU14
TPU16

TPU5/32
TPU3/16
TPU1/4
TPU5/16
TPU3/8
TPU1/2

5/32
3/16
1/4
5/16
3/8
1/2

40
44
48
515
63.5
335
335
345
40
44
48

14.5
18.5
21
23
26
11
11
13
14.5
18.5
21




Universal Type Quick Fittings

T RPUC caes =

Universal Type Quick Fittings

TPG8-4

TPG8-6
TPG10-6
TPG10-8
TPG12-6
TPG12-8
TPG12-10
TPG14-12
TPG16-12
TPG16-14
TPG1/4-5/32
TPG5/16-5/32
TPG5/16-1/4
TPG3/8-1/4
TPG3/8-5/16
TPG1/2-1/4
TPG1/2-5/16
TPG1/2-3/8

5/16
5/16
3/8
3/8
1/2
1/2
1/2

5/32
5/32
1/4
1/4
5/16
1/4
5/16
3/8

39
39
37
38
42

425
43
51
64
65

345
39
39
37
38
42

425
43

14.5
14.5
18.5
18.5
21
21
21
23
26
26
13
14.5
14.5
18.5
18.5
21
21
21

TPUC4

TPUC6

TPUC8
TPUC10
TPUC12

TPUC14
TPUC16
TPUC5/32
TPUC3/16
TPUC1/4
TPUC5/16
TPUC3/8
TPUC1/2

5/32
3/16
1/4
5/16
3/8
1/2

325
35
37
47
47

515
64

325

325
35
38
48
48

135
16
17

215
24

255
28

135

135
16
17

215
24

14.5
18.5
21
23
26
11
11
13
14.5
18.5
21

3T
ARER

ZRIRE
EfRBER

R

B4

=5

o

5

H3 BE

1RAER
Fiebed

AR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RENH
ERARE B RER

R

e
-

=

h

#



TP G C JERRE

Universal Type Quick Fittings

itk
oy
I

B T

oP1 dP2

Model b D1
TPGC6-4 6 34 15 13 11 32
TPGC8-4 8 36 165 145 13 32
TPGC8-6 8 365 165 145 13 32
TPGC10-6 10 43 195 185 145 32
TPGC10-8 10 43 195 185 145 32
TPGC12-6 12 47 235 21 185 42
TPGC12-8 12 47 235 21 185 42
TPGC12-10 12 10 48 235 21 185 42
- i - TPGC14-12 14 12 51 25 23 23 42
NIElE' .lw - TPGC16-12 16 12 64 28 26 2 52
-G'Bu —— ._t._._._;:“m' TPGC16-14 16 14 64.5 28 26 26 5.2
t * od TPGC1/4-5/32 1/4 5/32 34 15 13 11 32
TPGC5/16-5/32 5/16 5/32 36 165 145 13 32
TPGC5/16-1/4 5/16 1/4 365 165 145 13 32
TPGC3/8-1/4 3/8 1/4 46.5 195 185 145 32
TPGC3/8-5/16 3/8 5/16 47 195 185 145 32
TPGC1/2-1/4 12 1/4 47 235 21 185 42
TPGC1/2-5/16 172 5/16 47 235 21 185 42
TPGC1/2-3/8 1/2 3/8 48 235 21 185 42

T P V /LB EEER

Universal Type Quick Fittings

$D 5D

TPV8 8 8 23 30.5 9 14.5 3.2
TPV10 10 10 27.5 37 115 18.5 4.2
TPV12 12 12 29 395 13 21 4.2
TPV14 14 14 30 41.5 135 23 4.2
TPV16 16 16 325 455 14 26 52
TPV6-4 6 4 19 255 8 13 3.2
TPV8-6 8 6 23 30.5 9 145 3.2
TPV10-8 10 8 27.5 37 115 185 4.2
TPV12-10 12 10 29 395 13 21 4.2
TPV14-12 14 12 30 41.5 135 23 4.2
TPV16-14 16 14 325 45.5 14 26 52
TPV5/32 5/32 5/32 18.5 24 7 11 3.2
TPV3/16 3/16 3/16 18.5 24 7 11 3.2
TPV1/4 1/4 1/4 19 255 8 13 3.2
TPV5/16 5/16 5/16 23 30.5 9 145 3.2
TPV3/8 3/8 3/8 27.5 37 115 18.5 4.2
TPV1/2 1/2 1/2 29 39.5 13 21 42




T P U L /R AEEER

Universal Type Quick Fittings

Universal Type Quick Fittings

L2

TPUL4

TPUL6

TPUL8
TPUL10

TPUL12
TPUL5/32
TPUL3/16
TPUL1/4
TPULS/16
TPUL3/8
TPUL1/2

5/32
3/16
1/4
5/16
3/8
1/2

11
13
14.5
18.5
21
11
11
13
14.5
18.5
21

16.5
17.5
205
24
26
16,5
16.5
17.5
205
24
26

315
34
405
465
515
315
315
34
405
465
515

TPE8
TPELO

TPE12

TPE14

TPE16
TPE5/32
TPE3/16
TPE1/4
TPE5/16
TPE3/8
TPE1/2

10
12
14
16
5/32
3/16
1/4
5/16
3/8
1/2

14.5
18.5
21
23
26
11
11
13
14.5
18.5
21

23
275
29
30
325
18.5
18.5
19

275
29

46
55
58
60
65
37
37
38
46
55
58

115
13
135
14

115
13

18
23
26
27
28
14
14
16
18
23
26

32
4.2
4.2
4.2
5.2
3.2
32
32
32
4.2
4.2

ST
ARER

ZRIRE
EfRBER

R

B4

=5

o

5

H3 BE

1RAER
Fiebed

AR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RE
ERARE B RER

R

e
-

=

b

#



TPEG /==

Universal Type Quick Fittings

TPEG6-4
TPEG4-6
TPEG8-4
TPEG8-6
TPEG6-8
TPEG10-6
TPEG10-8
TPEG8-10
TPEG12-8
TPEG12-10
TPEG10-12
TPEG14-12
TPEG16-12

TPEG16-14
TPEG1/4-5/32
TPEG5/16-5/32
TPEG5/16-1/4
TPEG3/8-1/4
TPEG3/8-5/16
TPEG1/2-5/16
TPEG1/2-3/8

5/16
5/16
3/8
3/8
1/2
1/2

© o oo o » o » NN

=
o

10
12
12
12
14
5/32
5/32
1/4
1/4
5/16
5/16
3/8

14.5
14.5
14.5
18.5
18.5
18.5
21
21
21
23
26
26
13
14.5
14.5
18.5
18.5
21
21

19
19
22
22
23
26
27
27.5
29
29.5
29
29
32
325
19
22
22
26
27
29
29.5

38
38
46

46
44
55
55
54
58
58
59
60
65
65
38
46
46

55
58
58

o WOV o0 o

115
115
115
13
13
13
135
14
14

115
115
13
13

16
16
18
18
18
23
23
13
26
26
26
27
28
28
16
18
18
23
23
26
26

3.2
32
32
32
3.2
42
4.2
4.2
42
42
42
42
5.2
5.2
32
3.2
3.2
42
4.2
42
42

Universal Type Quick Fittings

TPY8
TPY10
TPY12
TPY14
TPY16

. TPY5/32

i TPY3/16

TPY1/4

TPY5/16

e ! TPY3/8

L: TPY1/2

L1

10
12
14
16

5/32

3/16

1/4
5/16
3/8
1/2

445
50
55
555
555
355
355
38
445
50
55

185
21
22
22
22
14
14
15

185
21
22

14.5
18
21
26
26

11
11
13
14.5
18
21

14.5
18
21
26
26
11
11
13

14.5

18.5
21

32
4.2
4.2
4.2
4.2
32
32
32
32
4.2
4.2




TPW,  ane

Universal Type Quick Fittings

TPZA isnuss

TPW8-4

TPW8-6
TPW10-6
TPW10-8
TPW12-8

TPW12-10
TPW14-12
TPW16-12
TPW16-14
TPW1/4-5/32
TPW5/16-5/32
TPW5/16-1/4
TPW3/5-1/4
TPW3/8-5/16
TPW1/2-5/16
TPW1/2-3/8

1/4
5/16
5/16

3/8

3/8

1/2

1/2

5/32
5/32
1/4
1/4
5/16
5/16
3/8

435
43.5
485
495
54
54.5
55
55
55.5
37
435
435
48.5
495
54
54.5

17.5
17.5
18.5
20.5
21
215
215
215
22
145
175
17.5
185
20.5
21
215

14.5
14.5
18
18
21
21
26
26
26
13
14.5
14.5
18
18
21
21

145
145
18.5
18.5
21
21
26
26
26
13
14.5
14.5
18.5
18.5
21
21

32
32
4.2
42
42
42
4.2
4.2
4.2
32
32
32
4.2
4.2
42
42

Universal Type Quick Fittings

Universal Type Quick Fittings

e A-wP2

4-002

ST
ARER

BB

R

B4

=

o

5

H3 BE

R
B

AR
tRERFEER

D
TPZA4 4 4 11 37 75 15 32
TPZAG 6 6 13 38 8 16 32 o
TPZA8 8 8 14.5 45 9 18 3.2 bi3E
TPZA10 10 10 185 56 115 23 42
TPZAL2 12 12 21 58 13 26 42 -
TPZAG-4 6 6 13 38 8 16 32
TPZAS-6 8 8 145 45 9 18 32
TPZA10-8 10 10 185 56 115 23 42 -
TPZA12-10 12 12 21 58 13 26 42
TPZA5/32 5/32 5/32 11 37 7.5 15 32
TPZA3/16 3/19 3/19 11 37 75 15 32 FE
TPZAL/4 1/4 1/4 13 38 8 16 32 AOH
TPZAS/16 5/16 5/16 145 45 9 18 32
TPZA3/8 3/8 3/8 185 56 115 23 42 IR
TPZAL/2 12 12 21 58 13 26 42
RENHM
HARS Bz
BERR
et
I




Universal Type Quick Fittings

Universal Type Quick Fittings

ep
2-op1 |

D D
TPK4 4 4 59 19 8 375 11 13 11 3.2
TPK6 6 6 69 23 85 42 13 14.5 13 3.2
TPK8 8 8 78.5 25 11 47.5 145 18.5 14.5 4.2
TPK10 10 10 91.5 29.5 125 60 185 21 18.5 4.2
TPK12 12 12 100 29.5 13 68.5 21 21 21 4.2
TPK5/32 5/32 5/32 59 19 8 37.5 11 13 11 3.2
TPK3/16 3/16 3/16 59 19 8 37.5 11 13 11 3.2
TPK1/4 1/4 1/4 69 23 85 42 13 14.5 13 3.2
TPK5/16 5/16 5/16 78.5 25 11 47.5 145 185 14.5 4.2
TPK3/8 3/8 3/8 91.5 29.5 125 60 185 21 18.5 4.2
TPK1/2 1/2 1/2 100 295 13 68.5 21 21 21 4.2

TPKG6-4
TPKG8-4
TPKG8-6
TPKG10-6
TPKG10-8
TPKG12-6
TPKG12-8
TPKG12-10
TPKG1/4-5/32
TPKG1/4-3/16
TPKG5/16-5/32
TPKG5/16-3/16
TPKG5/16-1/4
TPKG3/8-1/4
TPKG3/8-5/16
TPKG1/2-1/4
TPKG1/2-5/16
TPKG1/2-3/8

10
10
12
12
12
1/4
1/4
5/16
5/16
5/16
3/8
3/8
1/2
1/2
1/2

5/16
1/4
5/16
3/8

60
71
71
79.5
79.5
93.5
93.5
93.5
60
60
71
71
71
79.5
79.5
93.5
93.5
93.5

19
22
23
24
25
28
29
295
19
19
22
22
23
24
25
28
29
295

8.5
8.5
11
11
125
1255
125

8.5
8.5
8.5
11
11
125
1255
1255

375
42
42

475

475
60
60
60

375

375
42
42
42

475

475
60
60
60

L5

14.5
14.5
18.5
18.5
18.5

oP 1

13
14.5
14.5
18.5
18.5

21

21

21

13

13
14.5
14.5
14.5
18.5
18.5

21

21

21

oP 2

11
13
13
145
14.5
18.5
18.5
18.5
11
11
13
13
13
145
145
18.5
18.5
18.5




T P G J/Ef‘éhﬁﬁ}%éﬁ

Universal Type Quick Fittings

T P |_ .J/Lfé‘}aﬁﬁzféé

Universal Type Quick Fittings

TPGJ6-4

TPGJ8-4

TPGJ8-6
TPGJ10-6

TPGJ10-8
TPGJ12-6
TPGJ12-8
TPGJ12-10
TPGJ1/4-5/32
TPGJ5/16-5/32
TPGJ5/16-1/4
TPGJ3/8-1/4
TPGJ3/8-5/16
TPGJ1/2-1/4
TPGJ1/2-5/16
TPGJ1/2-3/8

5/16
5/16
3/8
3/8
1/2
1/2
1/2

=
o

5/32
5/32
1/4
1/4
5/16
1/4
5/16
3/8

385
40
41
4

455
40
43
51

385
40
41
41

455
40
43
51

22
25
25
26.5
26.5
26.5
26.5
26.5
22
25
25
26.5
26.5
26.5
26.5
26.5

14.5
13
14.5
18.5
11
11
13
13
14.5
13
14.5
18.5

TPLJ4

TPLJ6-4
TPLJ6
TPLJ8-6
TPLJ8
TPLJ10-8
TPLJ10
TPLJ12-10
TPLJ12
TPLJ5/32
TPLJ1/4-5/32
TPLI1/4
TPLJ5/16-1/4
TPLJ5/16
TPLJ3/8-5/16
TPLJ3/8
TPLJ1/2-3/8
TPLJ1/2

5/32
1/4
1/4

5/16

5/16
3/8
3/8
1/2
1/2

5/32
5/32
1/4
1/4
5/16
5/16
3/8
3/8
1/2

18.5
18.5
19.5
22
23
26.5
27
27
29.5
185
18.5
19.5
22
23
26.5
27
27
29.5

285
29
30

355

355
39
39
42

425

285
29
30

355

355
39
39
42

425

18.5
19
19
22
22

235

235

26.5

26.5

18.5
19
19
22
22

235

235

26.5

26.5

11
11
13
14.5
14.5
18.5
18.5
18.5
21
11
11
13
145
14.5
18.5
18.5
18.5
21

ST
ARER

ZRIRE
EfRBER

R

B4

=5

o

5

H3 BE

1RAER
Fiebed

AR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RENH
ERARE B RER

R

e
-

=

h

#



T P U L .J /R AR E R

Universal Type Quick Fittings

5 & F 9
D ¢ D2

TPULJ 4 4 4 11 16.5 29 18.5 44

TPULJ 6-4 6 4 11 16.5 29.5 19 445

TPULJ 6 6 6 13 17.5 32 19 48.5

TPULJ 8-6 8 6 14.5 20 38 22 56

TPULJ 8 8 8 14.5 21 38 22 57.5

TPULJ 10-8 10 8 18.5 23 42 235 63

TPULJ 10 10 10 18.5 24 42 235 64.5

TPULJ 12-10 12 10 18.5 24 45 26.5 67.5

TPULJ 12 12 12 21 26 47 26.5 72

TPULJ 5/32 5/32 5/32 11 16.5 29 18.5 44

I TPULJ 1/4-5/32 1/4 5/32 11 16.5 295 19 445

TPULJ 1/4 1/4 1/4 13 175 32 19 48.5

TPULJ 5/16-1/4 5/16 1/4 14.5 20 38 22 56

f TPULJ 5/16 5/16 5/16 14.5 21 38 22 57.5

3 TPULJ 3/8-5/16 3/8 5/16 18.5 23 42 235 63

o 4 TPULJ 3/8 3/8 3/8 18.5 24 42 235 64.5

7 TPULJ 1/2-3/8 1/2 3/2 18.5 24 45 26.5 67.5

TPULJ 1/2 1/2 1/2 21 26 47 26.5 72

T P Y .J /Y BER =B

Universal Type Quick Fittings

TPYJ4 4 4 485 18.5 14 11 11 32

TPYJ6-4 6 4 49.5 19 14 11 11 32

TPYJ6 6 6 52.5 19 15 13 13 32

TPYJ8-6 8 6 61 22 18 145 14.5 42

TPYJ8 8 8 61.5 22 18.5 145 14.5 42

TPYJ10-8 10 8 67.5 233 20.5 18 18.5 42

TPYJ10 10 10 68 235 21 18 18.5 42

TPYJ12-10 12 10 71 26.5 21 18 18.5 42

TPYJ12 12 12 76 26.5 22 21 21 4.2

= TPYJ5/32 5/32 5/32 485 18.5 14 11 11 32
E TPYJ1/4-5/32 1/4 5/32 49.5 19 14 11 11 3.2
TPYJ1/4 1/4 1/4 52.5 19 15 13 13 42

TPYJ5/16-1/4 5/16 1/4 61 22 18 145 14.5 32

TPYJ5/16 5/16 5/16 61.5 22 18.5 14.5 14.5 4.2

TPYJ3/8-5/16 3/8 5/16 67.5 235 225 18 18.5 4.2

TPYJ3/8 3/8 3/8 68 235 21 18 18.5 42

TPYJ1/2-3/8 1/2 3/2 71 26.5 21 18 18.5 42

TPYJ1/2 1/2 1/2 76 26.5 22 21 21 42




T P K J/FEEE}E{%E?

Universal Type Quick Fittings fe3e)
AESIA

ZRIRE

BB R
TPKJ4 4 4 13 11 725 375 11 3.2
TPKJ6-4 6 4 13 11 745 375 11 3.2
PRIREY
TPKJ6 6 6 145 13 835 42 13 3.2 HTEEAR
TPKJ8-4 8 4 145 13 875 42 13 3.2
TPKJ8-6 8 6 145 13 875 42 13 3.2
B4R
TPKJ8 8 8 185 14.5 95.5 475 145 42
TPKJ10-6 10 6 185 14.5 97.5 475 145 42
TPKJ10-8 10 8 185 14.5 97.5 475 145 42 jmsey
TPKJ10 10 10 21 185 110 60 185 42 Fiebed
TPKJ12-6 12 6 21 185 115 60 185 42
_ TPKJ12-8 12 8 21 18.5 115 60 185 4.2 PRIREY
335 132 O
TPKJ12-10 12 10 21 185 115 60 185 42 PRI R
TPKJ12 12 12 21 21 121 68.5 21 42

T P I G /HEEE

Universal Type Quick Fittings

D D
TPIG6-4 6 4 36 16 15
TPIG8-4 8 4 375 185 15
fieds
TPIG8-6 8 6 39 185 16 5
TPIG10-6 10 6 415 20 16
TPIG10-8 10 8 43 20 185
R
TPIG12-8 12 8 445 23 185 b
a' 8
& | 1524 TPIG12-10 12 10 48 23 20
I, S T TPIG16-12 16 12 54 24 23 N
Ee L - B[R
FHH

TPP

Universal Type Quick Fittings

R
RENHM
HREBER
TPP4 4 5 28 15
TPPG 6 7 33 16
B R
TPP8 8 9 36 185 A
El-|
TPP10 10 1 425 20
TPP12 12 13 43 23
TPP16 16 17 49 24
TPP5/32 5/32 5 28 15
G e e ey TPP3/16 36 ° 8 1
o o
" | TPP1/4 1/4 7 33 16
TR TPP5/16 5/16 9 36 185
. L1 - TPP3/8 3/8 11 425 20
TPP1/2 1/2 13 43 23
I



Universal Type Quick Fittings

TPPF4 4 5 28

TPPF6 6 7 33

TPPF8 8 9 36

TPPF10 10 il 425

TPPF12 12 13 43

TPPF16 16 17 49

TPPFS5/32 5/32 5 28

. TPPF3/16 3/16 5 28
TPPF1/4 1/4 7 33

u.lr.-.‘ i_ TPPF5/16 5/16 9 -
e I TPPFY8 3/8 11 425
TPPF1/2 1/2 13 43

T P L /LB ]

Universal Type Quick Fittings

TPL4-02

TPL4-03
TPL6-02
TPL6-03

TPL6-04
TPL8-01
TPL8-02
TPL8-03
TPL8-04
TPL10-01
TPL10-02
TPL10-03
TPL10-04
TPL10-06
TPL12-01
TPL12-02

TPL12-03
TPL12-04
TPL12-06
TPL14-02
TPL14-03
TPL14-04
TPL14-06
TPL16-02
TPL16-03
TPL16-04

TPL16-06

0 0 0 0 o o o »h b

e e e O O O O s s s e i T =
o o o o A A A B NN N NN O O O O O

R1/4
R3/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R3/4
R1/8
R1/4
R3/8
R1/2
R3/4
R1/4
R3/8
R1/2
R3/4
R1/4
R3/8
R1/2
R3/4

10
10.5
10
10.5
135
7.5
10
10.5
135
7.5
10
10.5
13.5
15
7.5
10
10.5
135
15
10
11
14
15
10
11
14
15

18.5
18.5
19.5
19.5
195
23
23
23
23
27
27
27
27
27
29.5
29.5
29.5
29.5
29.5
30
30
30
30
315
315
315
315

24
25
25
26

295
25

275

285
32

275
30

305
34

36,5
28

305
31

345
37

355

375
40
42

365
39

415

435

235
24
255
26
275
285
29
29
31
325
33
33
35
36
345
35
35
36.5
38
41
43
43
44
435
45
46
47

11
11
13
13
13
14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
18.5
21
21
21
21
21
23
23
23
23
26
26
26
26




T P |_ = G /LB R (H )

Universal Type Quick Fittings

TPL4-GO1

TPL4-G02
TPL4-GO3
TPL6-GO1
TPL6-G02
TPL6-GO3
TPL8-GO1
TPL8-G02
TPL8-G03
TPL8-G04
TPL10-GO1
TPL10-G02
TPL10-GO3
TPL10-G04
TPL12-GO1
TPL12-G02
TPL12-G03
TPL12-G04
TPL14-G02
TPL14-G03
TPL14-G04
TPL16-G02
TPL16-G03
TPL16-G04

W 0 0 0 o o o » b b

e e L O O s s i s
o o o A A A N NN N O O O O

G1/8
G1/4
G3/8
G1/8
G1/4
G3/8
G1/8
G1/4
G3/8
G1/2
G1/8
G1/4
G3/8
G1/2
G1/8
Gl/4
G3/8
G1/2
G1/4
G3/8
G1/2
G1/4
G3/8
G1/2

5.5
6.5
7.5
5.5
6.5
7.5
5.5
6.5
7.5
10
5.5
6.5
7.5
10
55
6.5
7.5
10
6.5
7.5
10
6.5
7.5
10

18.5
18.5
18.5
19.5
19.5
19.5
23
23
23
23
27
27
27
27
29.5
29.5
29.5
29.5
30
30
30
315
315
315

21
22
24
22
23
25

245

255

275
30

265

275

295
32
27
28
30

325
34
35

375

355

36,5
39

21
21
22
23
23
24
26
26
27
27
30
30
31
31
32
32
33
33
39
39
39
415
415
415

11
11
11
13
13
13
14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21
21
21
23
23
23
26
26
26

TPL-N zeanen

Universal Type Quick Fittings

TPL5/32-U10
TPL5/32-N01
TPL5-32-N02

TPL3/16-U10
TPL3-16-N01
TPL3-16-N02
TPL1/4-U10
TPL1/4-NO1
TPL1/4-N02
TPL1/4-NO3
TPL5/16-N01
TPL5/16-N02
TPL5/16-N03
TPL5/16-N04
TPL3/8-NO1
TPL3/8-N02
TPL3/8-N03
TPL3-8-N04
TPL1/2-NO1
TPL1/2-N02
TPL1/2-NO3
TPL1/2-N04

5/32
5/32
5/32
3/16
3/16
3/16
1/4
1/4
1/4
1/4
5/16
5/16
5/16
5/16
3/8
3/8
3/8
3/8
1/2
1/2
1/2
1/2

UNF10-32
NPT1/8
NPT1/4

UNF10-32
NPT1/8
NPT1/4

UNF10-32
NPT1/8
NPT1/4
NPT3/8
NPT1/8
NPT1/4
NPT3/8
NPT1/2
NPT1/8
NPT1/4
NPT3/8
NPT1/2
NPT1/8
NPT1/4
NPT3/8
NPT1/2

35
7.5

35
7.5

35
7.5
10
10.5
7.5
10
10.5
135
7.5
10
10.5
135
7.5
10
10.5
135

18.5
18.5
18.5
18.5
18.5
18.5
195
19.5
19.5
19.5
23
23
23
23
27
27
27
27
29.5
29.5
29.5
29.5

18.5
21
24

18.5
21
24

19.5
22
25
26
25

275

285
32

27.5
30

30.5
34
28

30.5
31

345

20.5
225
235
20.5
225
235
225
245
255
26
285
29
29.5
31
325
33
335
35
34.5
35
B5H5!
36.5

14.5
145
14.5
14.5
18.5
18.5
18.5
18.5
21
21
21
21

9/16
1/2
1/2

9/16
1/2
1/2

9/19

11/16
9/16
9/16

11/16

7/8

11/16

11/16

11/16

7.8

11/16

11/16

11/16

7.8

ST
ARER

BB

AR

1RAER
Fiebed

AR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RENH
ERARE B RER

BIERR
e

El-|

ht
y

#



TPLF ensss

Universal Type Quick Fittings

TPLF4-M5

TPLF4-M6
TPLF4-01
TPLF4-02

TPLF6-M5

TPLF6-M6
TPLF6-01
TPLF6-02
TPLF6-03
TPLF8-01
TPLF8-02
TPLF8-03
TPLF8-04

TPLF10-01

TPLF10-02

TPLF10-03

TPLF10-04

TPLF12-01

TPLF12-02

TPLF12-03

TPLF12-04

W 0 W 0 O O o o o » b b b

I T T - T = T S
N N NN O O O O

M5
M6
R1/8
R1/4
M5
M6
R1/8
R1/4
R3/8
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2

115
85
11
115
14
85
11
115
14
85
11
115
14

18.5
18.5
18.5
18.5
19.5
19.5
19.5
19.5
195
23
23
23
23
27
27
27
27
29.5
29.5
29.5
29.5

17
17
20
23
18
18
21
24

255

235

265
28

315

255

285
29

335
26
29

295
34

225
225
25.5
28.5
24.5
24.5
27.5
30.5
32
30.5
335
35
38.5
345
37.5
38
425
36.5
395
40
44.5

14.5
14.5
145
145
18.5
18.5
185
18.5
21
21
21
21

T P |_ F = G/Liﬂp‘]%ﬁ%ﬁﬁ(é%)

Universal Type Quick Fittings

TPLF4-GO1
TPLF4-G02
TPLF6-GO1

TPLF6-G02
TPLF6-GO3
TPLF8-GO1
TPLF8-GO02
TPLF8-GO3
TPLF8-G04
TPLF10-GO1
TPLF10-G02
TPLF10-GO3
TPLF10-G04
TPLF12-GO1
TPLF12-G02
TPLF12-G03
TPLF12-G04

0 0 0 0 O o O » b

T o T S T S S S
N N NN O O O O

G1/8
Gl/4
G1/8
Gl/4
G3/8
G1/8
Gl/4
G3/8
G1/2
G1/8
Gl/4
G3/8
G1/2
G1/8
Gl/4
G3/8
G1/2

85
11
85
11
115
85
11
115
14
85
11
115
14
85
11
115
14

18.5
18.5
195
195
19.5
23
23
23
23
27
27
27
27
29.5
29.5
29.5
29.5

20
23
21
24

255

235

265
28

315

255

285
29

335
26
29

295
34

255
28.5
27.5
30.5
32
30.5
335
35
38.5
34.5
37.5
38
425
36.5
39.5
40
44.5

14.5
145
145
145
18.5
18.5
18.5
18.5
21
21
21
21




TPLL ioness

Universal Type Quick Fittings

Ee3]
ARER
TPLL4-02 4 R1/4 10 185 36 355 11 14 SkRE
TPLL6-02 6 R1/4 10 195 39 395 13 14 Blescti
TPLL6-03 6 R3/8 105 195 40 40 13 17
TPLL6-04 6 R1/2 135 19.5 435 415 13 21 zﬂﬂi”
& TPLL8-01 8 R1/8 75 23 405 44 145 14 RERTE
TPLL8-02 8 R1/4 10 23 43 445 145 14
TPLL8-03 8 R3/8 105 23 44 45 145 17 EZess Ao
TPLL8-04 8 R1/2 135 23 475 465 145 21
TPLL10-01 10 R1/8 7.5 27 47 52 185 17
HRAERY
- TPLL10-02 10 R1/4 10 27 495 525 185 17 e
TPLL10-03 10 R3/8 105 27 50 53 185 17
TPLL10-04 10 R1/2 135 27 535 54.5 185 21 _
TPLL12-01 12 R1/8 7.5 295 50 56.5 21 17 e
TPLL12-02 12 R1/4 10 295 525 57 21 17
TPLL12-03 12 R3/8 105 295 53 57 21 17
TPLL12-04 12 R1/2 135 295 56.5 59 21 21

s
5
T P I_ L = G/Lf&ﬂﬂ%}%ﬁﬁ(ﬁ%) =i
Universal Type Quick Fittings
-
TPLL4-GO1 4 G1/8 55 185 33 33 11 12 ig;ﬁ
/A
TPLL4-GO02 4 G1/4 6.5 185 34 33 11 12
TPLL6-GO1 6 G1/8 55 1955 36 37 13 12
TPLL6-GO2 6 G1/4 6.5 195 37 37 13 12 R
TPLL6-GO3 6 G3/8 75 195 39 38 13 16
TPLL8-GO1 8 G1/8 55 23 40 415 14.5 14 =8
TPLL8-GO2 8 G1/4 6.5 23 41 415 14.5 14 AR Bz
T TPLL8-GO3 8 G3/8 75 23 43 425 14.5 16
; TPLL8-GO4 8 G1/2 10 23 455 425 145 19 Byesee
i TPLL10-GO1 10 G1/8 55 27 46 495 185 17 ety
TPLL10-G02 10 Gl/4 6.5 27 47 49.5 185 17
3 TPLL10-GO3 10 G3/8 75 27 49 50.5 185 17
2 TPLL10-G04 10 G1/2 10 27 515 50.5 185 19
i TPLL12-GO1 12 G1/8 55 295 49 54 21 17
! TPLL12-G02 12 G1/4 6.5 295 50 54 21 17
TPLL12-GO3 12 G3/8 75 295 52 55 21 17
TPLL12-G04 12 G1/2 10 295 54.5 55 21 19
.



TPNL zaxes

Universal Type Quick Fittings

B¥Y
¢ D
TPNL4-M5 4 M5 3.5 17 13 14.5 105 8
TPNL4-M6 4 M6 4 17 14 15 10.5 10
TPNL4-01 4 R1/8 75 17 17 18 10.5 10
TPNL4-02 4 R1/4 9.5 17 19 18 10.5 14
TPNL6-M5 6 M5 3.5 195 14 17 13 10
TPNL6-M6 6 M6 4 19.5 15 17.5 13 10
TPNL6-01 6 R1/8 7.5 195 18 20.5 13 10
TPNL6-02 6 R1/4 9.5 19.5 20.5 21 13 14
a — TPNL6-03 6 R3/8 10.5 19.5 215 215 13 17
TPNL8-01 8 R1/8 75 225 19 22 14.5 12
TPNL8-02 8 R1/4 9.5 225 21 22 14.5 14
TPNL8-03 8 R3/8 105 22.5 22.5 23 145 17
TPNL8-04 8 R1/2 135 22.5 26 25 145 21
TPNL10-01 10 R1/8 7.5 27.5 21 26 185 14
TPNL10-02 10 R1/4 9.5 27.5 23 26 185 14
TPNL10-03 10 R3/8 105 275 24.5 27 185 17
TPNL10-04 10 R1/2 135 275 28 29 185 21
TPNL12-01 12 R1/8 75 29.5 22 28.5 21 16
TPNL12-02 12 R1/4 9.5 29.5 24.5 29 21 16
TPNL12-03 12 R3/8 10.5 29.5 25.5 295 21 17
TPNL12-04 12 R1/2 135 29.5 29 315 21 21

T P N L = G/Lﬁ?“iﬁ%ﬁﬁ(ﬁ%)

Universal Type Quick Fittings

EFIME
$ D
TPNL4-GO1 4 G1/8 5.5 17 17.5 17 10.5 10
TPNL4-G02 4 G1/4 6.5 17 18.5 17 10.5 10
TPNL6-GO1 6 G1/8 5.5 19.5 18.5 19.5 13 10
TPNL6-G02 6 Gl/4 6.5 19.5 19.5 19.5 13 10
TPNL6-G03 6 G3/8 7.5 19.5 21 20 13 10
TPNL8-GO1 8 G1/8 5.5 225 19.5 21 145 12
TPNL8-G02 8 G1/4 6.5 225 20.5 21 145 12
TPNL8-G03 8 G3/8 7.5 225 22 215 14.5 12
TPNL8-G04 8 G1/2 10 225 25 22 14.5 12
- L2 - TPNL10-GO1 10 G1/8 5.5 27.5 20.5 24 18.5 14
TPNL10-GO02 10 G1/4 6.5 27.5 225 25 18.5 14
TPNL10-GO3 10 G3/8 7.5 27.5 24 255 185 14
TPNL10-G04 10 G1/2 10 27.5 27 26 185 14
TPNL12-GO1 12 G1/8 5.5 295 215 26.5 21 16
TPNL12-G02 12 G1/4 6.5 295 23 27 21 16
TPNL12-G03 12 G3/8 7.5 29.5 25 28 21 16
TPNL12-G04 12 G1/2 10 29.5 28 285 21 16




T P L M/Liﬂﬁ%ﬂi}

Universal Type Quick Fittings

TPLM10
TPLM12
TPLM5/32
TPLM1/4
TPLM5/16
TPLM3/8
TPLM1/2

10
12
5/32
1/4
5/16
3/8
1/2

M12*1.0
M14+1.0
M16*1.0
M18*1.0
M22*1.0
M12*1.0
M14+1.0
M16*1.0
M18*1.0
M22*1.0

18.5

195
23
27

29.5

18.5

19.5
23
27

29.5

435
28
31
35
40

435

55
5.5

145
18.5
21
11
13
14.5
185
21

TPS L sees

Universal Type Quick Fittings

TPSL 4-M5

TPSL 4-M6
TPSL 4-01
TPSL 4-02

TPSL 4-03
TPSL 6-M5
TPSL 6-M6
TPSL 6-01
TPSL 6-02
TPSL 6-03
TPSL 6-04
TPSL 8-01
TPSL 8-02
TPSL 8-03
TPSL 8-04
TPSL 10-01

TPSL 10-02
TPSL 10-03
TPSL 10-04
TPSL 12-01
TPSL 12-02
TPSL 12-03

TPSL 12-04

W 0 0 00 O o o o o o »h b b b Db

N s s s
N N NN O O O O

M5
M6
R1/8
R1/4
R3/8
M5
M6
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2

35

7.5
10
10.5
35

7.5
10
10.5
135
7.5
10
10.5
135
7.5
10
10.5
135
7.5
10
10.5
135

16.5
165
16.5
16.5
16.5
175
175
17.5
17.5
17.5
17.5
21
21
21
21
24
24
24
24
26
26
26
26

19
195
215
245
255
215
22
24
27
28
315
275
30
31
345
305
33
335
37
325
35
355
39

305
305
33
335
34
345
345
365
375
38
395
43
435
44
455
49
495
50
515
535
54
545
56

11
11
11
11
11
13
13
13
13
13
13
14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21
21
21

ST
ARER

ZRIRE
EfRBER

AR

1RAER
Fiebed

AR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RE
ERARE B RER

R

e
e

El-|

b

#



T P S I_ _G /RAER(ES)

Universal Type Quick Fittings

TPSL4-GO1 4 G1/8 5.5 16.5 215 31 11 14

‘ﬁ TPSL4-G02 4 Gl/4 6.5 16.5 225 31 11 17

TPSL4-GO03 4 G3/8 7.5 16.5 24.5 32 11 20

TPSL6-GO1 6 G1/8 5.5 175 24 35 13 14

TPSL6-G02 6 Gl/4 6.5 17.5 25 35 13 17

TPSL6-GO3 6 G3/8 7.5 17.5 27 36 13 20

TPSL6-G04 6 G1/2 10 17.5 29.5 36 13 24

TPSL8-GO1 8 G1/8 5.5 21 27 41 14.5 14

TPSL8-G02 8 Gl/4 6.5 21 28 41 14.5 17

TPSL8-GO3 8 G3/8 7.5 21 30 42 14.5 20

f TPSL8-G04 8 G1/2 10 21 325 42 14.5 24
TPSL10-GO1 10 G1/8 55 24 29.5 46.5 18.5 17

= TPSL10-G02 10 Gl/4 6.5 24 30.5 46.5 18.5 17
TPSL10-GO3 10 G3/8 7.5 24 325 475 18.5 20

TPSL10-G04 10 G1/2 10 24 35 475 185 24

I TPSL12-GO1 12 G1/8 5.5 26 315 51 21 17
TPSL12-G02 12 Gl/4 6.5 26 325 51 21 17

TPSL12-G03 12 G3/8 7.5 26 345 52 21 20

TPSL12-G04 12 G1/2 10 26 37 52 21 24

Universal Type Quick Fittings

B 5% BFIME

Model ¢ D
TPB4-02 4 R1/4 10 37 24 235 11 14
TPB4-03 4 R3/8 105 37 25 24 11 17
TPB6-02 6 R1/4 10 39 25 255 13 14
3 TPB6-03 6 R3/8 105 39 26 26 13 17
TPB6-04 6 R1/2 135 39 295 275 13 21
TPBS-01 8 R1/8 75 46 25 285 145 14
TPB8-02 8 R1/4 10 46 275 29 145 14
TPB8-03 8 R3/8 105 46 285 29 145 17
TPB8-04 8 R1/2 135 46 32 31 145 21
- L2 - TPB10-01 10 R1/8 75 545 275 325 185 17
f | TPB10-02 10 R1/4 10 545 30 33 185 17
g i TPB10-03 10 R3/8 105 545 305 33 185 17
1 TPB10-04 10 R1/2 135 545 34 35 185 21
i d TPB12-01 12 R1/8 75 59 28 345 21 17
1 TPB12-02 12 R1/4 10 59 305 35 21 17
TPB12-03 12 R3/8 105 59 31 35 21 17
TPB12-04 12 R1/2 135 59 345 365 21 21
TPB14-03 14 R3/8 11 60 37 42 23 19
TPB14-04 14 R1/2 14 60 405 44 23 21
TPB16-03 16 R3/8 11 61 42 485 26 21
TPB16-04 16 R1/2 14 61 455 50 26 21




L4

L3

T P B = G /TE =B

Universal Type Quick Fittings

TPB4-GO1

TPB4-G02
TPB4-G03
TPB6-GO1
TPB6-G02
TPB6-GO3
TPB8-GO1
TPB8-G02
TPB8-GO3
TPB8-G04
TPB10-GO1
TPB10-G02
TPB10-G03
TPB10-G04
TPB12-GO1
TPB12-G02
TPB12-G03
TPB12-G04
TPB14-G03
TPB14-G04
TPB16-G03
TPB16-G04

W 0 0 W o o o » b b

I T S S e S S S S T e S S S
o o & B N N N N O O O O

G1/8
Gl/4
G3/8
G1/8
Gl/4
G3/8
G1/8
Gl/4
G3/8
G1/2
G1/8
Gl/4
G3/8
G1/2
G1/8
Gl/4
G3/8
G1/2
G3/8
G1/2
G3/8
G1/2

55
6.5
7.5
5.5
6.5
75
55
6.5
7.5
10
5.5
6.5
7.5
10
5.5
6.5
7.5
10
7.5
10
7.5
10

37
37
37
39
39
39
46
46
46
46

545

545

545

545
59
59
59
59
60
60
61
61

21
22
24
22
23
25
24.5
25.5
27.5
30
26.5
27.5
26.5
32
27
28
30
325
345
38
39.5
43

21
21
22
23
23
24
26
26
27
27
30
30
32
31
32
32
33
33
40
40
46
46

11
11
11
13
13
13
145
145
145
145
18.5
18.5
18.5
18.5
21
21
21
21
23
23
26
26

T P D /TR A R

Universal Type Quick Fittings

TPD4-02

TPD4-03
TPD6-02
TPD6-03
TPD6-04
TPD8-01
TPD8-02
TPD8-03
TPD8-04
TPD10-01
TPD10-02
TPD10-03
TPD10-04
TPD12-01
TPD12-02
TPD12-03
TPD12-04
TPD14-03
TPD14-04

© 0 0 00 o o o »h b

I e S e N T = = =
A B N N NN O O O O

R1/4
R3/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R3/8
R1/2

10
105
10
105
135
75
10
105
135
75
10
10.5
135
75
10
105
135
11
14

18.5
18.5
19.5
19.5
195
23
23
23
23
27
27
27
27
29.5
29.5
29.5
29.5
30.5
30.5

43
435
45
455
49
485
51
515
55
55
57
575
61
575
60
60.5
64
67.5
71

37
37
39
39
41
445
45
45
47
51
51
51
53
535
54
54
56
61
63

11
11
13
13
13
14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21
21
21
23
23

ST
ARER

ZRIRE
EfRBER

AR

1RAER
Fiebed

AR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RENH
ERARE B RER

BIERR
e

El-|

ht
y

#



T P D = G /TE & B

Universal Type Quick Fittings

(BEHF)

TPD4-GO1

TPD4-G02
TPD4-G03
TPD6-GO1
TPD6-G02
TPD6-GO03
TPD8-GO1
TPD8-G02
TPD8-GO3
TPD8-G04
TPD10-GO1
TPD10-G02
TPD10-G03
TPD10-G04
TPD12-GO1
TPD12-G02
TPD12-G03
TPD12-G04
TPD14-G03
TPD14-G04

W 0 0 0 o o o b b b

[ S e S T T = = S S
A B N N NN O O O O

G1/8
G1/4
G3/8
G1/8
Gl/4
G3/8
G1/8
G1/4
G3/8
G1/2
G1/8
G1/4
G3/8
G1/2
G1/8
Gl/4
G3/8
G1/2
G3/8
G1/2

5.5
6.5
7.5
55
6.5
7.5
5.5
6.5
7.5
10
5.5
6.5
7.5
10
5.5
6.5
7.5
10
7.5
10

18.5
18.5
18.5
195
19.5
19.5
23
23
23
23
27
27
27
27
29.5
29.5
29.5
29.5
30.5
30.5

39.5
40.5
425
415
425
445
475
485
50.5
53
53.5
54.5
56.5
59
56.5
57.5
59.5
62
65
68.5

58.5
58.5

14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21
21
21
23
23

T P B F,/T@W%E?E}%Eﬁ

Universal Type Quick Fittings

TPBF4-M5

TPBF4-M6
TPBF4-01
TPBF4-02
TPBF4-03

TPBF6-M5

TPBF6-M6
TPBF6-01
TPBF6-02
TPBF6-03
TPBF8-01
TPBF8-02
TPBF8-03
TPBF8-04

TPBF10-01

TPBF10-02

TPBF10-03

TPBF10-04

TPBF12-01

TPBF12-02

TPBF12-03

TPBF12-04

W 0 0 O O o o o o » b b b b

s s s e
N N NN O O O O

M5
M6
R1/8
R1/4
R3/8
M5
M6
R1/8
R1/4
R3/8
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2

11.5

85
11
115
85
11
115
14
85
11
115
14
85
11
115
14

37
37
37
37
37
39
39
39
39
39
46
46
46
46

545

545

545

545
59
59
59
59

17
17
20
23

245
18
18
21
24

255

235

265
28

315

255

285
29

335
26
29

295
34

225
225
255
285
30
245
245
275
305
32
305
335
35
385
345
375
38
425
365
395
40
445

11
11
11
11
11
13
13
13
13
13
14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21
21
21




T P D F /TEAEART =BER

Universal Type Quick Fittings

L3

TPDF4-M5

TPDF4-M6
TPDF4-01
TPDF4-02
TPDF4-03

TPDF6-M5

TPDF6-M6
TPDF6-01
TPDF6-02
TPDF6-03
TPDF8-01
TPDF8-02
TPDF8-03
TPDF8-04

TPDF10-01

TPDF10-02

TPDF10-03

TPDF10-04

TPDF12-01

TPDF12-02

TPDF12-03

TPDF12-04

W 0 0 O O o o o o » b b D b

s s s e
N N NN O O O O

M5
M6
R1/8
R1/4
R3/8
M5
M6
R1/8
R1/4
R3/8
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2

115

85
11
115
85
11
115
14
85
11
115
14
85
11
115
14

18.5
18.5
18.5
18.5
18.5
19.5
19.5
19.5
19.5
19.5
23
23
23
23
27
27
27
27
29.5
29.5
29.5
29.5

355
35.5
38.5
415
43
37.5
37.5
40.5
435
45
46.5
49.5
51
54.5
52.5
55.5
56
60.5
55.5
58.5
59
63.5

14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21
21
21

TPX yvugs

Universal Type Quick Fittings

TPX4-02

TPX4-03
TPX6-02
TPX6-03
TPX6-04
TPX8-01
TPX8-02
TPX8-03
TPX8-04
TPX10-01
TPX10-02
TPX10-03
TPX10-04
TPX12-02
TPX12-03
TPX12-04
TPX14-03
TPX14-04
TPX16-03
TPX16-04

W 0 0 00 o o o b b

e e T O s e o = O =
o o A B N N N O O O O

R1/4
R3/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2
R3/8
R1/2
R3/8
R1/2

10
10.5
10
10.5
135
7.5
10
10.5
135
7.5
10
10.5
135
10
10.5
135
11
14
11
14

445
455
475
485
52
51
53.5
54.5
58
56.5
59
59.5
63
64
64.5
68
655
69
655
69

385
39
415
42
44
47
475
48
495
525
53
53
55
58
58
60
59
60.5
59
61

14
14
15
15
15
18
18
18
18
21
21
21
21

215

215

215
22
22
22
22

11
11
13
13
13
145
14.5
14.5
145
18.5
18.5
18.5
18.5
21
21
21
23
23
26
26

11
11
13
13
13
14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21
21
23
23
26
26

ST
ARER

ZRIRE
EfRBER

AR

1RAER
Fiebed

AR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RENH
ERARE B RER

BIERR
e

El-|

ht
y

#

i



T PX - G /YEEB(ET)

Universal Type Quick Fittings

A\

TPX4-G01

TPX4-G02
TPX4-G03
TPX6-GO1
TPX6-G02
TPX6-G03
TPX8-GO1
TPX8-G02
TPX8-G03
TPX8-G04
TPX10-GO1
TPX10-G02
TPX10-G03
TPX10-G04
TPX12-G02
TPX12-G03
TPX12-G04
TPX14-G03
TPX14-G04
TPX16-G03
TPX16-G04

0 0 0 0 oo o o » b b

I T T e Y e S S S T S S T
o o A B M N N O O O O

G1/8
Gl/4
G3/8
G1/8
Gl/4
G3/8
G1/8
Gl/4
G3/8
G1/2
G1/8
G1/4
G3/8
G1/2
G1/4
G3/8
G1/2
G3/8
G1/2
G3/8
G1/2

5.5
6.5
7.5
5.5
6.5
7.5
5.5
6.5
7.5
10
55.5
6.5
7.5
10
6.5
7.5
10
7.5
10
7.5
10

415
425
44.5
44.5
455
475
50.5
515
535
56
55.5
56.5
58.5
61
61.5
63.5
66
63
66.5
63
66.5

36
36
37
39
39
40
45
45
46
46
50
50
51
51
55
56
56

56.5

56.5

56.5

56.5

14
14
14
15
15
15
18
18
18
18
21
21
21
21

215

215

215
22
22
22
22

11
11
11
13
13
13
145
145
145
145
18.5
185
18.5
18.5
21
21
21
23
23
26
26

14.5
14.5
14.5
145
18.5
18.5
18.5
18.5
21
21
21
23
23
26
26

Universal Type Quick Fittings

TPRX-Gresss

Universal Type Quick Fittings

TPRX4-G01

TPRX4-G02
TPRX4-GO03
TPRX6-GO1
TPRX6-G02
TPRX6-GO03

G1/8
Gl/4
G3/8
G1/8
Gl/4
G3/8

55
6.5
7.5
5.5
6.5
7.5

395
40
405
395
40
405

395
40
405
395
40
405

15.5
15.5
15.5
15.5
15.5
15.5

13
13
13
13
13
13

TPRX4-01 4 R1/8 8 46 42 155 13 13 14

TPRX4-02 4 R1/4 10 48 42 15.5 13 13 14

TPRX4-03 4 R3/8 11 49.5 43 15.5 13 13 17

TPRX6-01 6 R1/8 8 46 42 15.5 13 13 14

TPRX6-02 6 R1/4 10 48 42 15.5 13 13 14

TPRX6-03 6 R3/8 11 49.5 43 155 13 13 17
A(ETF)




T P K D /hEER

Universal Type Quick Fittings

Universal Type Quick Fittings

TPKD4-01

TPKD4-02
TPKD6-4-01
TPKD6-4-02

TPKD6-01

TPKD6-02
TPKD8-6-02
TPKD8-6-03

TPKD8-02

TPKD8-03

TPKD10-8-02
TPKD10-8-03
TPKD10-03
TPKD10-04
TPKD12-10-03
TPKD12-10-04
TPKD12-03
TPKD12-04

W 00 0 00 o o o o »Hh b

s s s
N N NN O O O O

e = = = =
N N O O O o

R1/8
R1/4
R1/8
R1/4
R1/8
R1/4
R1/4
R3/8
R1/4
R3/8
R1/4
R3/8
R3/8
R1/2
R3/8
R1/2
R3/8
R1/2

7.5
10
7.5
10
7.5
10
10
10.5
10
10.5
10
10.5
10.5
135
10.5
135
10.5
135

65.5
68
67

69.5
76

78.5

79.5

80.5

87.5

88.5

88.5
89

101.5
105
103.5
107
109.5
113

61.5
62
63

63.5
72

72.5

73.5
74

815
82

82.5

82.5
95
97
97
99

103

105

11
11
11
11
13
13
13
13
14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21

19
19
19
19
23
23
23
23
25
25
25
25
29.5
29.5
29.5
29.5
29.5
29.5

125
1255
125
125
13
13

375
375
375
375
42
42
42
42
475
475
475
475
60
60
60
60
68.5
68.5

145
145
145
145
18.5
185
185
18.5
21
21
21
21
21
21

14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21

32
3.2
32
32
32
32
3.2
32
42
4.2
4.2
4.2
4.2
4.2
4.2
42
4.2
4.2

T P K D = G /hBEB(ET)

TPKD4-GO01
TPKD4-G02
TPKD6-4-G01
TPKD6-4-G02
TPKD6-GO1
TPKD6-G02
TPKD8-6-G02
TPKD8-6-G03
TPKD8-G02
TPKD8-GO03
TPKD10-8-G02
TPKD10-8-G03
TPKD10-G03
TPKD10-G04
TPKD12-10-GO03
TPKD12-10-G04
TPKD12-G03
TPKD12-G04

D

0 0 0 0 O O O O » b

s s s =
NONMN N O O O o

0 0 0 0 o o o o » b b b

S T = = =
N N O O O O

G1/8
Gl/4
G1/8
Gl/4
G1/8
G1/4
Gl/4
G3/8
Gl/4
G3/8
Gl/4
G3/8
G3/8
G1/2
G3/8
G1/2
G3/8
G1/2

5.5
6.5
5.5
6.5
55
6.5
6.5
7.5
6.5
7.5
6.5
7.5
7.5
10
75
10
7.5
10

65
66
66.5
67.5
75.5
76.5
77.5
79.5
85.5
87.5
86
88
100.5
103
102.5
105
108.5
111

59.5
59.5
61
61
70
70
71
72
79
80
79.5
80.5
93
93
95
95
101
101

11
11
11
11
13
13
13
13
14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21

19
19
19
19
23
23
23
23
25
25
25
25
29.5
29.5
29.5
29.5
29.5
29.5

1255
125
125
125
13
13

375
375
375
375
42
42
42
42
475
475
475
475
60
60
60
60
68.5
68.5

145
145
145
145
185
185
18.5
18.5
21
21
21
21
21
21

14.5
14.5
14.5
14.5
18.5
18.5
18.5
18.5
21
21

32
32
32
32
32
32
3.2
32
4.2
4.2
4.2
4.2
4.2
4.2
4.2
4.2
4.2
4.2

ST
ARER

BB

AR

1RAER
Fiebed

AR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RENH
ERARE B RER

BIERR
e

El-|

ht
y

#



TPH /LB @ B

Universal Type Quick Fittings

TPH4-M5
TPH4-M6
TPH4-01

TPH4-02
TPH6-M5
TPH6-M6
TPH6-01
TPH6-02
TPH6-03
TPH6-04
TPH8-01
TPH8-02
TPH8-03
TPH8-04
TPH10-01
TPH10-02
TPH10-03
TPH10-04
TPH12-02
TPH12-03
TPH12-04
TPH14-04
TPH16-04

W 0 0 00 o o o o o o » b b b

e e s s
o A N N M O O O O

M5
M6
R1/8
R1/4
M5
M6
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2
R1/2
R1/2

9.5
10.5
14

9.5
10.5
14

95
105
14
95
105
14
14
14

20
20
23
25
215
215
23
25
27
33
26.5
29
30.5
33
29
31
32
345
33
35
36.5
39
39

17
18
24

265
17
18
24

265
32
39
24

265
32
39
34

265
32
39

265
32
39
39
39

13
14
20

205
13
14
20

205

255
31
20

205

255
31
20

205

255
31

205

255
31
31
31

145
145
145
14.5
14.5
18.5
18.5
18.5
18.5
21
21
21.
26
26

TPH -G  eesssas

Universal Type Quick Fittings

44

TPH4-GO1

TPH4-G02
TPH6-GOL
TPH6-G02
TPH6-GO3
TPH6-GO4
TPH8-GO1
TPH8-G02
TPH8-G03
TPH8-GO4

TPH10-G01

TPH10-G02

TPH10-G03

TPH10-GO4

TPH12-G02

TPH12-G03

TPH12-G04

TPH14-G04

TPH16-G04

W 00 00 W O O o o »h b

e s s s
o A N NN O O O O

G1/8
Gl/4
G1/8
Gl/4
G3/8
G1/2
G1/8
Gl/4
G3/8
G1/2
G1/8
Gl/4
G3/8
G1/2
Gl/4
G3/8
G1/2
G1/2
G1/2

23
25
23
25
27
33
26.5
29
30.5
33
29
31
32
345
33
35
36.5
39
39

235
27
235
27
32
39
235
27
32
39
235
27
32
39
27
32
39
39
39

18.5
20
18.5
20
24.5
29
18.5
20
24.5
29
18.5
20
24.5
29
20
24.5
29
29
29

11
11
13
13
13
145
14.5
14.5
145
145
18.5
185
18.5
18.5
21
21
21
26
26




T P H F JLEL A 5 40 8 £ 58

Universal Type Quick Fittings

BFME R1/R2 L1/L2
¢ D T
TPHF4-M5 4 M5 4 20 20 16.5 11 8 ARER
TPHF4-M6 4 M6 4 20 21 17 11 8
TPHF4-01 4 R1/8 7 23 28 24 11 14 PRARE
TPHF4-02 4 R1/4 95 25 33 27 11 17 EERE
TPHF6-M5 6 M5 4 215 20 165 13 8
TPHF6-M6 6 M6 4 215 21 17 13 8 PRIREY
7o 5 A0
TPHF6-01 6 R1/8 7 23 28 24 13 14 REHER
TPHF6-02 6 R1/4 95 25 33 27 13 17
TPHF6-03 6 R3/8 105 27 39 325 13 21 FIZ0 S 58
TPHF6-04 6 R1/2 14 33 465 385 145 24
TPHF8-01 8 R1/8 7 265 28 24 145 14
TPHF8-02 8 R1/4 29 33 27 145 17 RED
) ! 95 : B
A - L3 - TPHF8-03 8 R3/8 105 305 39 325 145 21
TPHF8-04 8 R1/2 14 33 46.5 385 145 24
| B B
ol ol TPHF10-01 10 R1/8 7 29 305 265 185 14 bz
" "-|' = TPHF10-02 10 R1/4 95 31 33 27 185 17
. 8%
Pl ——r TPHF10-03 10 R3/8 105 32 39 325 185 21
{ 3 TPHF10-04 10 R1/2 14 345 46.5 385 185 24
-
L ' TPHF12-02 12 R1/4 95 33 35 29 21 17
TPHF12-03 12 R3/8 105 35 39 325 21 21
TPHF12-04 12 R1/2 14 365 465 385 21. 24
TPHF14-04 14 R1/2 14 39 465 385 26 24
TPHF16-04 16 R1/2 14 39 46.5 385 26 24

s
08
TPHEF - G/Lfém%i@@}%ﬁ(ﬁﬁf'
Al
Universal Type Quick Fittings
-
TPHF4-GO1 4 G1/8 5 7 225 275 225 1 14 -
TPHF4-G02 4 G1/4 7 95 26 33 27 1 17 S
TPHF6-GO1 6 G1/8 5 7 225 275 24 13 14
TPHF6-GO2 6 G1/4 7 95 2 33 27 13 17
TPHF6-GO3 6 G3/8 7.5 105 315 39 325 13 21 el
TPHF6-GO4 6 G1/2 10 14 365 465 385 145 24
TPHF8-GO1 8 G1/8 5 7 225 275 24 145 14 =8
TPHF8-G02 8 Gl/4 7 9.5 26 33 27 145 17 AR BER
TPHF8-GO3 8 G3/8 7.5 105 315 39 325 145 21
Ut ) TPHF8-G04 8 G1/2 10 14 365 465 385 145 24 Byesse
1 =1 o TPHF10-GO1 10 G1/8 5 7 25 30 265 185 14 wiR
- ; TPHF10-G02 10 G1/4 7 95 2 33 27 185 17
53 -|I i TPHF10-G03 10 G3/8 75 10. 315 39 325 185 21
o TPHF10-G04 10 G1/2 10 14 365 465 385 185 24
' = I:: TPHF12-G02 12 Gl/4 7 95 28 35 29 21 17
TPHF12-G03 12 G3/8 7.5 105 315 39 325 21 21
TPHF12-GO4 12 G612 10 14 365 465 385 21 24
TPHF14-G04 14 G1/2 10 14 365 465 385 26 2
TPHF16-G04 16 G1/2 10 14 365 465 385 26 24
I

45



T P O I_ N / LEANAEEER

Universal Type Quick Fittings

H - L2 =3
T | T 3
[ i
o .
3 8,0
[} E i | 1
1 ‘—I

Universal Type Quick Fittings

- Lz =
1
I
-
= & 8
L] L)
=1 q .|
% | 1
]
1 -
i
! R !
|

TPOLN4-M5

TPOLN4-01
TPOLN4-02
TPOLN6-M5
TPOLNG6-01
TPOLNG6-02
TPOLN6-03
TPOLN8-01
TPOLN8-02
TPOLNS8-03
TPOLN8-04
TPOLN10-01
TPOLN10-02
TPOLN10-03
TPOLN10-04
TPOLN12-02
TPOLN12-03
TPOLN12-04
TPOLN14-04
TPOLN16-04

W 0 0 0 O O o o » b b

e S e S T = = =
o A M N N O O O O

M5
R1/8
R1/4

M5
R1/8
R1/4
R3/8
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2
R1/2
R1/2

35

9.5
35

9.5
10.5

95
105
14

9.5
10.5
14
9.5
10.5
14
14
14

20
23
25
215
23
25
27
26.5
29
30.5
33
29
31
32
345
33
35
36.5
39
39

16.5
225
25
16.5
225
25
30.5
225
25
30.5
37
225
25
30.5
37
25
30.5
37
37
37

13
185
19
13
185
19
24
185
19
24
29
185
19
24
29
19
24
29
29
29

11
11
11
13
13
13
13
14.5
14.5
14.5
14.5
14.5
18.5
18.5
18.5
21
21
21
26
26

TPOLM4-M5

TPOLM4-01
TPOLM6-01
TPOLM6-02
TPOLMS8-01
TPOLM8-02
TPOLM8-03
TPOLM10-02
TPOLM10-03
TPOLM12-03
TPOLM12-04

R1/8
R1/8
R1/4
R1/8
R1/4
R3/8
R1/4
R3/8
R3/8
R1/2

20
20
23
23
27
27
27
31
31
36.5
36.5

17.5
21
24
27
27
30
31
34
35
39
42

14
17
20
21

24
24.5
28
28.5
325
335

14.5
14.5
14.5
18.5
18.5
21
21




Universal Type Quick Fittings 1#0E
ARSE

ZRIRE

ERBIRS
TPA4-M5 M5 4 25 17 13 1 1 8
TPAG-01 R1/8 7 24 24 20 13 13 12
TPA8-01 R1/8 7 2 2 20 145 145 12 Eggi};ﬁ
TPAB-02 R1/4 95 28 265 205 145 145 14
TPA10-02 10 R1/4 95 31 265 205 185 185 14
TPA10-03 10 R3/8 105 33 32 255 185 185 19 HZESRAER
TPA12-03 12 R3/8 105 34 32 255 21 21 19
TPAL2-04 12 R1/2 14 365 39 31 21 21 24 —_—
TPA6-GOL 6 G1/8 5 24 235 185 13 13 12 o
T TPA8-GOL 8 G1/8 5 26 235 185 145 145 12
i y TPAB-G02 8 G1/4 75 28 27 195 145 145 14 SR
3 ol TPAL0-GO2 10 G1/4 7.5 31 27 195 185 185 14 PRIRIEEA
. i = TPA10-GO3 10 G3/8 7.5 33 32 245 185 185 19
| 5 5, TPAL2-GO3 12 G3/8 75 34 32 245 21 21 19

TPA12-G04 12 G1/2 10 36.5 39 29 21 21 24
L]
3
1

iz
3
TPAFussnss e
#H -z
Universal Type Quick Fittings
(o)
TPAF4-M5 4 M5 4 5 225 20 16 1 1 8 FBH
BB
TPAF6-01 6 R1/8 7 7 24 28 24 13 13 14
TPAF8-01 8 R1/8 7 7 26 28 24 145 145 14
TPAF8-02 8 R1/4 95 95 28 33 27 145 145 17 e
TPAF10-02 10 R1/4 95 95 31 33 27 185 18.5 17
TPAF10-03 10 R3/8 105 105 33 39 325 185 185 21
RENFE
TPAF12-03 12 R3/8 105 105 34 39 325 21 21 21 NP,
TPAF12-04 12 R1/2 14 14 365 465 385 21 21 24
L3
1 ¥ 1 TPAF6-GO1 6 G1/8 5 7 24 27.5 22,5 13 13 14 »
¥ 4 i u %%nn
mf )5 TPAF8-GO1 8 G1/8 5 7 26 275 225 145 145 s
J1 i o g.; TPAF8-G02 8 G1/4 7 95 28 33 26 145 145 17
e I
P i—C TPAF10-G02 10 G1/4 7 95 31 33 26 185 185 17
' o TPAF10-GO3 10 G3/8 75 10.5 33 39 315 185 185 21
At -
) g TPAF12-G03 12 G3/8 75 105 34 39 315 21 21 21
= TPAF12-G04 12 G1/2 10 14 365 465 365 21 21 24
-
-
|
I

41



TPHW fosn-s

Universal Type Quick Fittings

o o L2 e
] [}
1 L]
-
L: 8- ]
i 11
L ]
" I} b e | i
. |
-l
i 1
A
= {4 =y
y
]
] -
=~
R

Universal Type Quick Fittings

A2 _ L2 "
-
- o i
aea
(] AN
]
q T
: &
-
a 1
_ﬂ_'
!i\.. i
f
1 . :
o =
1 |

TPHWA4-01

TPHW4-02
TPHW6-01
TPHW6-02
TPHW6-03
TPHWS-01
TPHW8-02
TPHW8-03
TPHW8-04
TPHW10-02
TPHW10-03
TPHW10-04
TPHW12-02
TPHW12-03
TPHW12-04

0 0 0 0 O O O » b

R S < T = S
N NN O O O

R1/8
R1/4
R1/8
R1/4
R3/8
R1/8
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2

235
235
235
235
235
27.5
27.5
27.5
27.5
32
32
32
35
35
35

43
46
43
46
48
47
50
51
55
58
59
62

645

655

68.5

39
40
39
40

415
43
44

445
47
52

525
54

585
59

60.5

135
135
135
135
135
15
15
15
15
18.5
18.5
18.5
215
215
215

13
13
13
13
13
145
145
14.5
14.5
18.5
18.5
18.5
21
21
21

14
14
14
14
17
17
17
17
21
21
21
21
24
24
24

14
14
14
14
14
17
17
17
17
21
21
21
24
24
24

TPHW4-GO1

TPHW4-G02
TPHW6-GO1
TPHW6-G02
TPHW6-G03
TPHW8-GO1
TPHW8-G02
TPHW8-G03
TPHW8-G04
TPHW10-G02
TPHW10-G03
TPHW10-G04
TPHW12-G02
TPHW12-G03
TPHW12-G04

© 0 0 00 o o o »h b

[
N NN O O O

G1/8
G1/4
G1/8
Gl/4
G3/8
G1/8
G1/4
G3/8
G1/2
Gl/4
G3/8
G1/2
G1/4
G3/8
G1/2

5.5
6.5
5.5
6.5
7.5
5.5
6.5
7.5
10
6.5
7.5
10
6.5
7.5
10

235
235
235
235
235
27.5
27.5
27.5
27.5
32
32
32
35
35
35

42
43
42
43
45
46
47
48

515
55
56

585

615

625
65

36.5
36.5
36.5
36.5
35
40.5
40.5
40.5
415
48.5
48.5
48.5
55
55
55

135
135
135
135
135
15
15
15
15
18.5
18.5
18.5
215
215
215

13
13
13
13
13
14.5
14.5
14.5
14.5
18.5
18.5
18.5
21
21
21




Universal Type Quick Fittings

Universal Type Quick Fittings

TPHT4-01
TPHT4-02
TPHT6-01
TPHT6-02
TPHT6-03
TPHT8-01
TPHT8-02
TPHT8-03
TPHT8-04

TPHT10-02

TPHT10-03

TPHT10-04

TPHT12-02

TPHT12-03

TPHT12-04

W 0 0 W o o o » b

R e e
N NN O © O

R1/8
R1/4
R1/8
R1/4
R3/8
R1/8
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2

235
235
235
235
235
27.5
27.5
27.5
275
32
32
32
35
35
35

56.5
59.5
56.5
59.5
61.5
62
65
66
70
76.5
77.5
80.5
86.5
87
90

52.5
53.5
52.5
53.5
55
58
59
59.5
62
70.5
71
72.5
80
80.5
82

135
135
135
135
135
15
15
15
15
18.5
18.5
18.5
215
215
215

13
13
13
13
13
14.5
145
14.5
14.5
18.5
18.5
18.5
21
21
21

TPHT4-GO1
TPHT4-G02
TPHT6-GO1
TPHT6-G02
TPHT6-GO3
TPHT8-GO1
TPHT8-G02
TPHT8-GO03
TPHT8-G04
TPHT10-G02
TPHT10-GO03
TPHT10-G04
TPHT12-G02
TPHT12-G03
TPHT12-G04

© 0 0 00 o o o »h b

[
N NN O O O

G1/8
Gl/4
G1/8
Gl/4
G3/8
G1/8
Gl/4
G3/8
G1/2
Gl/4
G3/8
G1/2
G1/4
G3/8
G1/2

5.5
6.5
5.5
6.5
7.5
5.5
6.5
7.5
10
6.5
7.5
10
6.5
7.5
10

235
235
235
235
235
27.5
27.5
27.5
27.5
32
32
32
35
35
35

55.5
56.5
55.5
56.5
58.5
61
62
63
66.5
735
74.5
77
83
84
86.5

50
50
50
50
51
55.5
55.5
55.5
56.5
67
67
67
76.5
76.5
76.5

135
135
135
135
135
15
15
15
15
18.5
18.5
18.5
215
215
215

13
13
13
13
13
14.5
14.5
14.5
14.5
18.5
18.5
18.5
21
21
21

3T
ARER

BB

AR

g
iR

AR
tRERFEER

i
R

#1E3EER

B[R

FHA
BENH

KRR

RENH
ERARE B RER

BIERR
e

El-|

ht
y

#



Rotary Joint

45 ]

W ERESEMU - BEEMUAE BEE -
W EEE Dy RAHE - oTHRREESEN - SRTE

ALY o
#ZEE THE(TEZE)  EEEEE)
Packing(NBR) Back Ring(POM)
YR SRR (28R

Plastic bodyiNylon) 531 £ (5% 4 Collar(Brass)

JEFE /NylonTube

PU®E/PolyurethaneTube
OZLE(T IE1. ) n
O-Ring(NBR)
(92 $25) "
Shaft(Brass)
- 25 (3R 55 8) 747 (EX ER L
Upper ball cover(Brass) %i@e&f{fgﬂ}
#h4E BlShaft end ring £ R (RiEi)
S Lock Claws(SUS)
BT 25 (3% 55 40) '
Under the bearing i #F/Bearing
cover{Brass)
ORLE(T IE1Z) SHAE (5 #2.5)
O-Ring(NBR) Metal Body(Brass)
jrd L SRR £
EFR 4mm 6mm.1/4mm 8mm.5/16mm 10mm.3/8mm 12mm.1/2mm
FORFEEIR 500r.p.m 400r.p.m 300r.p.m 250r.p.m

5] EEL5E ()

it i T

BEFRY B

/1 - M5

IRAURE

PNEIEH

M5 M6 01

02 03 04 06

8R4 | M5*0.8 M6*1.0 R1/8 R1/4 R3/8 R1/2

R3/4




Rotary Joint =
AESIA

A 5% / Model EFIHE ZEAREY

BhBES
TRC4-M5 4 M5%0.8 3 34 16 10 12
TRC4-M6 4 M6+1.0 4 35 16 10 12
TRC4-01 4 R1/8 8 36.5 16 10 14 Eggﬁ
BT ear
TRC6-M5 6 M5*0.8 3 355 16 12 12
TRC6-M6 6 M6*1.0 4 36.5 16 12 12
TRC6-01 6 R1/8 8 38 16 12 14 S S
TRC6-02 6 R1/4 11 42 16 12 17
TRC8-01 8 R1/8 8 415 185 14 14 jmsey
TRC8-02 8 R1/4 11 455 185 14 17 R
- TRC8-03 8 R3/8 125 485 185 14 21
o0 TRC10-02 10 R1/4 11 53 21 17 17 PRAREY
G — TRC10-03 10 R3/8 125 56 21 17 21 BRIZ 5
o . TRC10-04 10 R1/2 15 58.3 21 17 24
L . TRC12-02 12 R1/4 11 583 23 20 17 B
2 e i TRC12-03 12 R3/8 12.5 613 23 20 21 PR
TRC12-04 12 R1/2 15 63.6 23 20 24
‘ -:: o TRC16-04 16 R1/2 15 64.6 24 24 27
TRC1/4-01 1/4 R1/8 8 38 16 12 14 ﬁﬁ
TRC1/4-02 1/4 R1/4 11 42 16 12 17 Eﬁ
TRC5/16-01 5/16 R1/8 8 415 185 14 14 ;
TRC5/16-02 5/16 R1/4 11 455 185 14 17 iﬁ
TRC5/16-03 5/16 R3/8 125 485 185 14 21 Eﬁ
TRC3/8-02 3/8 R1/4 11 53 21 17 17
TRC3/8-03 3/8 R3/8 125 56 21 17 21
TRC3/8-04 3/8 R1/2 15 583 21 17 24
TRC1/2-02 1/2 R1/4 11 583 23 20 17 - #Em
TRC1/2-03 1/2 R3/8 125 613 23 20 21
TRC1/2-04 1/2 R1/2 15 63.6 23 20 24
B0
FENH
SBEN
TkFE
RENE
AR Bz
HER
et
.

o1



92

T R I_ /L2 Te 8 % 58

Rotary Joint

A 5% / Model

TRL4-M5
TRL4-M6
TRL4-01
TRL4-02
TRL6-M5
TRL6-M6
TRL6-01
TRL6-02
TRL8-01
TRL8-02
TRL8-03
TRL10-02
TRL10-03
TRL10-04
TRL12-02
TRL12-03
TRL12-04
TRL16-04
TRL1/4-01
TRL1/4-02
TRL5/16-01
TRL5/16-02
TRL5/16-03
TRL3/8-02
TRL3/8-03
TRL3/8-04
TRL1/2-02
TRL1/2-03
TRL1/2-04

BFIMEGD

4
4
4
4
6
6
6
6
8
8
8

N e e s o e e
X R o 0 N N O © o

5/16
5/16
5/16
3/8
3/8
3/8
1/2
1/2
1/2

M5*0.8
M6*1.0
R1/8
R1/4
M5%*0.8
M6*1.0
R1/8
R1/4
R1/8
R1/4
R3/8
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2
R1/2
R1/8
R1/4
R1/8
R1/4
R3/8
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2

11

11
125
11
12.5
15
11
125
15
15

11

11
125
11
12.5
15
11
125
15

18.5
18.5
18.5
18.5
19
19
19
19
225
22.5
22.5
27.5
27.5
27.5
29
29
29
325
19
19
225
225
225
27.5
27.5
27.5
29
29
29

2738
2838
304
344
2838
298
314
354
344
37.9
409
41
434
457
415
439
46.2
57.6
314
354
345
37.9
409
41
434
457
415
439
46.2

16
16
16
16
16
16
16
16

185

185

185
21
21
21
23
23
23
24
16
16

185

185

185

205

205

205
23
23
23

11
11
11
11
13
13
13
13

144

144

144

18.4

184

184
21
21
21
26
13
13

14.4

14.4

14.4

184

184

184
21
21
21

12
12
14
17
12
12
14
17
14
17
21
17
21
24
17
21
24
27
14
17
14
17
21
17
21
24
17
21
24




Stop Fittings

B ESUNRREIINBERV R IGEIEER -
B HREBERINEE -

HEEE

REEFERARE  BLEFIZERAE -

OBE(THBE%E)
O-Ring(NBR)

158 (3% 82 4)
Metal Body(Brass)

TSPL 4
T

i i

EFRY B

‘AR m.r’ i

(R
MT\PValve &b iz
LockClawsSUS)

B (FYE PR T i)
Resin Bode(PBT)

M5

IRAURE

PNERIZA

01 02 03
R & [M3*0.5 M5*0.8 M6*1.0 R1/8 R1/4 R3/8

Sleeve(POM)

BB (T EZR) [BIR (B E)
Packing(NBR) Back Ring(POM)
OB (T BB E) %%(ﬁﬁ?ﬁ)]
=1/ A% D ' E1% 02 B ollar(Zinc
ﬁ/'ﬁf’i;u O-Ring(NBR) ‘jalve ] )
- Spring | [E#E /NylonTube

PUE /PolyurethaneTube

04
R1/2

#0
ARER

ZRIRE
ERRBIER

R
B

AR
tRER TR

mAR
RIRIRER

e e

ESpl

FHA
BEN

K

REEE
PR B REE

t

|

et

3

N



T S P C/Eﬂéﬁﬁﬁﬁ

Stop Fittings

A
los
L ! 1
AL ©

&

T S P L/L?.‘-;‘Eﬁﬂ:ﬁtﬁ

94

Stop Fittings

T S P U /EEE LR

Stop Fittings

” B
o — e

—-2-

TSPC4-M5

TSPC4-01
TSPC4-02
TSPC6-01
TSPC6-02
TSPC8-02
TSPC8-03
TSPC10-02
TSPC10-03
TSPC10-04
TSPC12-03
TSPC12-04

M5*%0.8
R1/8
R1/4
R1/8
R1/4
R1/4
R3/8
R1/4
R3/8
R1/2
R3/8
R1/2

32
24.8
24.8

25

27
335
335

36

36

37

37

37

10
10

12
12
14
14
17
17
17

20.5

20.5

15
15
15
16
16
18.5
18.5
20
20
20
23
23

TSPL4-M5
TSPL4-M6
TSPL4-01
TSPL6-M5
TSPL6-01
TSPL6-02
TSPL8-01
TSPL8-02
TSPL10-02
TSPL10-03
TSPL10-04
TSPL12-03
TSPL12-04

M5*0.8
M6*1.0
R1/8
M5*0.8
R1/8
R1/4
R3/8
R1/4
R1/4
R3/8
R1/2
R3/8
R1/2

26.5

265
30
28

315
34
35
37
44
45
48

475
51

36.5
36.5
36.5
37
37
37
455
455
53
53
53
56.5
56.5

10.5
10.5
10.5
13
13
13
14
14
18
18
18
205
205

15
15
15
16
16
16
18.5
18.5
20
20
20
23
23

14
14
17
17
21
21
21

|
I
C

O
s
[a1]

TSPU4

TSPU6

TSPU8
TSPU10
TSPU12




#0

Checkvalve ERBR
PRIREY
EREER
BHERAR
o = o = o s S BZERES
[ ] —HEEA - ZER7 HRFOEA  ZRARE -
[ | ﬁbﬁﬁﬁmﬂjﬁﬁj}?ﬁ%ﬂ: en
& S
Fpedi
ZEEE BRAREL
PRiREEEE
JEE/Nylon Tube
PU%E /Polyurethane Tube by ekt
TRIRETE
; /\—\/\— 0,
B 255 5% R3] (B EPRE)
HEHES) Sleeve(POM) e
Collar(Zinc)
|_<>_ % 1 (R854
EE(BEE) Lock Claws(SUS) 1
Back Ring(POM)
RHE (T BERR)
PR P (3484 Packing(NER)
Back Valve(Brass)
1 A% (2 82 8)
wmaz Metal Body(Brass)
B Valve SEn'n_g_
OZLB|(TiBEZE) S \PValve
O-Ring(NBR)
- ES
SBE
B
SRR (1)
TCVPC 4 - M5
PRIREBIFE
T N =
A o
IZAFAR
NS
£ 5% M5 M6 01 02 03 04 06
R~ (mm) BA M5*0.8 M6*1.0 R1/8 R1/4 R3/8 R1/2 R3/4
I




TCVPC zzzan

Checkvalve

TCVPC4-M5 4 M5+0.8 35 33 10
A TCVPC4-M6 4 M6*1.0 4 33 10
i = TCVPC4-01 4 R1/8 8 28 10
TCVPC6-01 6 R1/8 8 30 12
TCVPC6-02 6 R1/4 10 30 12
TCVPC8-01 8 R1/8 8 35 14
(- TCVPC8-02 8 R1/4 10 35 14
(- L - TCVPC10-03 10 R3/8 11 44 17
TCVPC10-04 10 R1/2 14 44 17
TCVPC12-03 12 R3/8 11 425 20.5
TCVPC12-04 12 R1/2 14 425 20,5

15

15
15
16
16
18.5
18.5
20
20
23
23

TCVPU wssps

Checkvalve
TCVPU4
I;u | ] 'l%" TCVPUG
ey |y TCVPUS
(=]
FalS ) 2 TCVPU10
™
TCVPU12
TCVPS Finnsuan
Checkvalve
A
= it
TCVPSFO1-01
TCVPSF02-02
TCVPSF03-03
ap TR & TCVPSF04-04
— — —
L
— -

T C V P F F /ESN T ERR

Checkvalve
TCVPFF01-01
T2
- TCVPFF02-02
' TCVPFF03-03
TCVPFF04-04
|




#0

Check Valves ERER
ERIBIESR
e L HERER
B EHIREFEETRENNFREEE - HZERER
B EPIPIRIEIE - REBHLBLG (05 ) PRENAE  URERBHESBERMES N
Bt EREEBRNEZE - e
S
IR HESR (BRI e
; Cap(POM, Rk EEE
: : THE(T ERIE)
S (98 5%50) Z3s
CollarBrass) FRGRDGINEEN p) et
. . JRIE (R PE) RIEZTR
f&;‘f’éﬁﬂ;ﬁm Back Ring(POM)
E (SE584A) -
Oﬂ(Tf *iﬂg) Collar(Brass) TR IR
Bt JEREMNylon Tube
PUE /Polyurethane Tube
E I
ERL

[EEH(FR P EE)

. Sleeve(POM)
el oS R
$7B8 (S 8247 PO (3 85.50) [ ZFRT_BE) | R R$E)
Metal Body(Brass) | Valve StemBrass) | | ResinBodePBT) | ock Claws(SUS) FF
' 35
1R
] S BU3R (1) el [
T e
2k m L —
. o fﬁéﬂﬁﬁi
SEFR~T B B2 AFRAE HIRERER
01 02 03 04 Gl
$10 ¢12 ® | R1/8 R1/4 R3/8 R1/2
B FEmUTE  MUSRAENER  LARBREER - &
X REMPIMEIE - WL ERE) PRENRESBIRES B
LH e N H - LRERBNERREE  ABOEREEBENZS -
WHO\ P (INR) WEO\P (OUTH)
.

91




THVF Flazzen

Check Valves

T H V F S/Eiﬂ?’@ﬁﬁ

THVFF6-6

THVFF8-6
THVFF8-8
THVFF10-8
THVFF10-10
THVFF12-10
THVFF12-12
THVFF1/4-1/4
THVFF5/16-1/4
THVFF5/16-5/16
THVFF3/8-5/16
THVFF3/8-3/8
THVFF1/2-3/8
THVFF1/2-1/2

10
10
12
12
1/4
5/16
5/16
3/8
3/8
1/2
172

1/4
1/4
5/16
5/16
3/8
3/8
1/2

375
375
37.5
40.5
40.5
40.5
40.5
375
37.5
37.5
40.5
40.5
40.5
40.5

26
27
27
35
35

34.5

34.5

26
27
27
35
35

34.5

34.5

26
26
27
34
35
35
345
26
26
27
34
35
35
345

145
14.5
14.5
21
21
21
21
14.5
14.5
14.5
21
21
21
21

16
18.5
18.5

20

20

23

23

16
18.5
18.5

20

20

23

23

16
16
18.5
18.5
20
20
23
16
16
18.5
18.5
20
20
23

18
18
18
24
24
24
24
18
18
18
24
24
24
24

11
11
11
11

11
11
11
11

Check Valves

THVFS6-01

THVFS6-02
THVFS8-01
THVFS8-02
THVFS8-03
THVFS10-02
THVFS10-03
THVFS10-04
THVFS12-03
THVFS12-04
THVFS1/4-NO1
THVFS1/4-N02
THVFS5/16-N01
THVFS5/16-N02
THVFS5/16-N03
THVFS3/8-N02
THVFS3/8-N03
THVFS3/8-N04
THVFS1/2-N03
THVFS1/2-N04

5/16
5/16
5/16
3/8
3/8
3/8
1/2
1/2

R1/8
R1/4
R1/8
R1/4
R3/8
R1/4
R3/8
R1/2
R3/8
R1/2
NPT1/8
NPT1/4
NPT1/8
NPT1/4
NPT3/8
NPT1/4
NPT3/8
NPT1/2
NPT3/8
NPT1/2

375
37.5
37.5
37.5
37.5
40.5
40.5
40.5
40.5
40.5
375
375
37.5
37.5
37.5
40.5
40.5
40.5
40.5
40.5

345
345

345
345

26
26
27
27
27
35
35
35

26
26
27
27
27
35
35
35

34
365
345
36.5
375
44
45
485
45
485

36,5
345
36.5
375
44
45
485
45
485

145
14.5
14.5
14.5
14.5
21
21
21
21
21
14.5
145
145
14.5
14.5
21
21
21
21
21

16
16
18.5
18.5
18.5
20
20
20
23
23
16
16
18.5
18.5
18.5
20
20
20
23
23

18
18
18
18
18
24
24
24
24
24
18
18
18
18
18
24
24
24
24
24

12
14
14
14
17
17
17
21
17
21
1/2
9/16
9/16
9/16
11/16
11/16
11/16
7/8
11/16
7/8




T H V S F/Eiﬂ%ﬁ}}tﬁﬁ

Check Valves

THVS S/sazem

Check Valves

THVSF6-01
THVSF6-02
THVSF8-01
THVSF8-02
THVSF8-03
THVSF10-02
THVSF10-03
THVSF10-04
THVSF12-03
THVSF12-04
THVSF1/4-N01
THVSF1/4-N02
THVSF5/16-N01
THVSF5/16-N02
THVSF5/16-N03
THVSF3/8-N02
THVSF3/8-N03
THVSF3/8-N04
THVSF1/2-N03
THVSF1/2-N04

5/16
5/16
5/16
3/8
3/8
3/8
1/2
1/2

R1/8
R1/4
R1/8
R1/4
R3/8
R1/2
R3/8
R1/2
R3/8
R1/2
NPT1/8
NPT1/4
NPT1/8
NPT1/4
NPT3/8
NPT1/4
NPT3/8
NPT1/2
NPT3/5
NPT1/2

37.5
37.5
37.5
35
35
40.5
40.5
40.5
40.5
40.5
375
37.5
37.5
37.5
37.5
40.5
40.5
40.5
40.5
40.5

485

26
26
27
27
27
35
35
35
345
34.5
26
26
27
27
27
35
35
35
345
345

14.5
14.5
14.5
14.5
14.5
21
21
21
21
21
14.5
14.5
14.5
14.5
14.5

16
16
18.5
18.5
18.5
20
20
20
23
23
16
16
18.5
18.5
18.5
20
20
20
23
23

18
18
18
18
18
24
24
24
24
24
18
18
18
18
18
24
24
24
24
24

12
14
14
14
17
17
17
21
17
21
1/2
9/16
9/16
9/16
11/16
11/16
11/16
7/8
11/16
7/8

THVSS01-01

THVSS02-01
THVSS02-02
THVSS03-02
THVSS03-03
THVSS04-03
THVSS04-04
THVSSO1IN-01IN
THVSS02N-01N
THVSS02N-02N
THVSSO03N-02N
THVSSO3N-03N
THVSS04N-03N
THVSS04N-04N

R1/8
R1/4
R1/4
R3/8
R3/8
R1/2
R1/2
NPT1/8
NPT1/4
NPT1/4
NPT3/8
NPT3/8
NPT1/2
NPT1/2

R1/8
R1/8
R1/4
R1/4
R3/8
R3/8
R1/2
NPT1/8
NPT1/8
NPT1/4
NPT1/4
NPT3/8
NPT3/8
NPT1/2

37.5
37.5
375
40.5
40.5
40.5
405
375
375
375
40.5
40.5
40.5
40.5

34
365
36.5
45
45
485
485
34
365
36.5
45
45
485
485

34
34
365
44
45
45
485
34
34
365
44
45
45
485

18
18
18
24
24
24
24
18
18
18
24
24
24
24

11
11
11
11

11
11
11
11

12
14
14
17
17
21
21
12
14
14
17
17
21
21

12
12
14
17
17
17
21
12
12
14
17
17
17
21

R
B

AR
tRERFEER

AR

tRER SR

e e

Al 3

EaElis

FF
5 8

el sl

K

RENH
ERARE B RER

BIERR
e

El-|

h
3

N



THSV-FS juusan

Slide Valves

Slide Valves

Slide Valves

Slide Valves

THSVO1 FS
THSVO02 FS
THSVO3 FS
THSV04 FS

T1/T2

Al/A2

5 E)) [f

Slide Valves

THSVO1 SF
THSVO2 SF
THSVO3 SF
THSV04 SF

T1/T2

Al/A2

THSVO1 FF
THSVO02 FF
THSVO3 FF
THSV04 FF

T1/T2

Al/A2

THSVO1 SS

THSV02 SS

THSV03 SS
THSV04 SS

T1/T2

Al/A2




Ball Valves

B ZHREBREEREIAFRERS -

/3K

Ball Valves

Ball Valves

Ball Valves

iote

f2see/Nylon Tube
PUE/Palyurethane Tube

BRI (R EPRE)
Sleeve(POM) R (Fea)

TBVUO6
TBVU08
TBVU08-06

BB (ERE)
Plastic Bodyi{PA)

HEHEE)
Collar{ZINC)

EF(RFE)
Handle(PPO)

IR (R PEE)

Back Ring(POM)

THE (T EZE)

Lock Claws(SUS) Packing (NBR)

YR ET (R 5888)
Balt{SUS)

PSR AR
Valve(PPO)

B (BRRE)
Spool(PFO)

ORLE (T I51812)
¥ 0-Ring(NBR)

Pin{SUS)

FR(RAHE)  smae(sEamim)

Body(Brass)

TBVC06-01

TBVC06-02
TBVC06-03
TBVC08-01
TBVC08-02
TBVC08-03

0 0 0 oo o O

R1/8
R1/4
R3/8
R1/8
R1/4
R3/8

17
17
17
17
17
17

56
58
59
59
61
62

7.5
9.5
10.5
7.5
9.5
10.5

23
23
23
23
23
23

TBVC06-GO1
TBVC06-G02
TBVC06-G03
TBVC08-GO1
TBVC08-G02
TBVC08-G03

0 0 0 O O O

G1/8
G1/4
G3/8
G1/8
Gl/4
G3/8

56
58.5

59
59
61.5
62

5.5
7.5
7.5
5.5
7.5
7.5

23
23
23
23
23
23

0
ARER

BB

ZRAR A

B

=

o

5

H3 B¢

\

1RAER
iebed

AR
tRER TR

mAR

RIRIRER

e e

Al 3

LSl

FHA
BENH

RENH
PR B REE




Air Control Valves

B BORFENEZZEE - T T
B P EEERERS - - ey

e ) HI F A
WS TR R L S TS R - Hy Ly HE
N Al oA f"u i‘\', Ll K3
B ST R - : - i
A =3 = e

A .

(GHZET A {> N
y 15 1 E 1L BRARE
)

Air Control Valves

0
.
— i
SLTTT
. H g TQKF06-01 6
et | TQKF06-02 6
§ 5 ks TQKF08-01 8
tod i S i
i TQKFO8-02 8 R1/2 M5 13 213 43 289 15 17 17

Air Control Valves

D1 D2 @

YT TQKF06-GO1 6
’ e TQKF06-G02 6
; : TQKF08-GO1 8
b d TQKFO8-G02 8 R1/2 M5 13 213 43 289 15 7 17

T Q KF jesnsen

Air Control Valves

|
0)
' S e
*u_ - i,
T ] TQKF06-G01-01 .
~a = { TQKF06-G02-02 203 43 195
{‘*- ’ Lk TQKF08-G01-03 34 93 32

MERBE TQKF08-G02-04 235 G1/2 R1/2 G1/2 26 16 16 285 878 36 24

Air Control Valves

o
vl b Kl
‘ &3 = TOKF-GO1 . X 15 37 17
i A TQKF-G02 5 175 43 195
’ v TQKF-G03 5 325 915 32

I v
TQKF-G04 235 G1/2 G1/2 Gl/2 26 16 10 34 93 36 24

62




LT/
S—MAU P / Mini Type Fittings

Mini Type Fittings IR
AREIE

ZRIRE
EfRBER

1RAER
Fiebed

AR

Mini Type Fittings AR
TRIRFEER

{@ e e

1 Al 3L
I <ol
I ].I_'_Ll_
[ ‘.,.1 i)
M5x0.8 ' @d
FH7
BB
3473

Mini Type Fittings

S-M3ALU-3 16 4.5 7 9.5 25 25 M3x0.5 9.5 5 5 12
S-M3ALU-4 1.8 53 7.8 10.3 25 25 M3x0.5 9.5 5 5 12 PO
BE
S-M5ALU-3 16 45 8.5 125 4 3.5 M5x0.8 115 8 8 25 =g =
S-M5ALU-4 1.8 5 5 133 4 3.5 M5x0.8 115 8 8 25
S-M5ALU-6 2.5 7 7 153 6 3 M5x0.8 13 8 8 25
[%]0]
8 |
-4 {-i-]—.-
"
M5x0.8
I



S-MHL /zsns=s

Mini Type Fittings

S-M5HL-4 125

S-M5HL-6 135

T L C N /BB R IE B R

Mini Type Fittings

M6*0.75
M6*0.75
M8*0.75
M8*0.75

i i L TTC4-M5
H TTC4-M6
- 4 = TTC6-M5
T TTC6-M6

<L

T I_ H N /L 2L SR 08 2 58

Mini Type Fittings

B BRI T
Model @D

TTL4-M5
TTL4-M6

TTL6-M5

TTL6-M6

M6*0.75
M6*0.75
M8*0.75
M8*0.75




Farash —ryglaie) Sie
TE?:%% 5\;Ei1ﬁ§ A""

Tube cutter and air gun
TAG -

Air Gun

ASA

Tube cutter

‘ﬁ

Tube cutter

. ’

3T 5 BU3R ()

TAG- 01

BT EEISR ()

TCN - B

B RIZE ()

3
ERFE

R

BHRBERE

R
S

RRAREY
PRIREETE

BT
Ry

HeohiEEE

#iEE

B

FHA
BEN

K




SEEEBRAT

TAIWAN TOSYO CO., LTD

TEL : +886-2-2946-2539

FAX © +886-2-3322-8715
MAIL : service@tosyo.com.tw

L



